
���������	�


����������	� �
��	�����


�	���	�� �
	 �
�����	�����

������������
��

����������� ��

	
������� ���

������������	
����
����������������� �������� ���

����������� ���������	��������	����������� ����


������� ����

���

����� ������

���


����



��



���������	
�������

� ���������� �

	 
�����
��� �
��� ������	
������
� ��� ���
 �
��
����� � � � � � � � � � � � � � � � � �
��� ������	��
 �
��
�����	� ��� �����
�������� � � � � � � � � � � � � ��
��� ������ ����!� "�
���
 � � � � � � � � � � � � � � � � � � � � � � � �#
��� �
�����$�
�
��
 %
���&���
���'��
 � � � � � � � � � � � � � � � � �(
��# )
��
��
		��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��

� ������� ��
��
������
���� 	�
��� *����
���	��
 �����
	��'�$
� � � � � � � � � � � � � � � � � � � � � ��

����� +�,�����-��
��������
�����
� � � � � � � � � � � � � � � � ��
����� +�,���������	�
�������
�����
� � � � � � � � � � � � � � � ��

���  ���������
���	��
 �����
	��'�$
� � � � � � � � � � � � � � � � � � ��
����� &�	�������
 � � � � � � � � � � � � � � � � � � � � � � � � � ��
����� +
����
 �
� � �'��	�
�  ������� � � � � � � � � � � � � � �(
����� .��'�$
� ��� ����������
� �
��
� � � � � � � � � � � � � � �/
����� %
�������
	��'�$
� � � � � � � � � � � � � � � � � � � � � � � ��
����# �
�����
�
��
���� �
� %
���
����
 � � � � � � � � � � � � ��

� ��� ������
������� ����
���� ��
��� �
� 0�	��$ 
�� &
�����1 &���
� 2 ���
��	 � � � � � � � � � � � � �#
��� �
� 0�	��$ 
�� ������ ��� +���
�3

 � � � � � � � � � � � � � � � �(

����� .��������
�����+�	����
� � � � � � � � � � � � � � � � � � � �/
����� �����
	��'�$��� ��� .�+ � � � � � � � � � � � � � � � � � � ��

��� ��	 
������	�
��
 �
�����
� � � � � � � � � � � � � � � � � � � � � � �4
���  ��
��	��
 ���
���		
 � � � � � � � � � � � � � � � � � � � � � � � � ��

����� .�����
�
� 
�� ���
� � � � � � � � � � � � � � � � � � � � � ��
����� .!���
��	��
� ���
�	��$ � � � � � � � � � � � � � � � � � � � ��
����� 5�� )������� 6
!	
� ���
�	��$ � � � � � � � � � � � � � � � �#
����� ��	��		��� � � � � � � � � � � � � � � � � � � � � � � � � � � � �7

� �
����� 
�� ����� �� ��� 

�!�"�� � ��
#�� &
��
����� �
	 +0*�)���������	 � � � � � � � � � � � � � � � � � � ��

#���� �,���
�����������
� � � � � � � � � � � � � � � � � � � � � � #4
#���� 6��8	��
� *���� � � � � � � � � � � � � � � � � � � � � � � � #�
#���� -���������	��
 0��
����� ��� 	������'�
 *����
 � � � � � ##
#���� �
�����
�
��
��
 �����
 � � � � � � � � � � � � � � � � � � � #7
#���# 0�9
����� ��� �,���
�����������
� � � � � � � � � � � � � #/
#���7 %��

,��'� ��� ����
�����
�� � � � � � � � � � � � � � � � � #�

���



:�����	

�$
�����	 �

#�� +�����
���� �
	 ��
�����������	 � � � � � � � � � � � � � � � � � � � 74
#���� %
�����	�
����� � � � � � � � � � � � � � � � � � � � � � � � � 7�
#���� )�������
��������	�
����� � � � � � � � � � � � � � � � � � 7�
#���� �����
	��'�$��� ��� �
� +0*�+
����
 � � � � � � � � � � 7�

# ���$����������� ��� %&���� #'
7�� ���� 
,���$��
� -;	���	��	��$ � � � � � � � � � � � � � � � � � � � � 7(

7���� �
� 0���������	 � � � � � � � � � � � � � � � � � � � � � � � 7(
7���� ���
�	�����
� �
	 �
�����
�	 � � � � � � � � � � � � � � � � 7/

7�� <�������	��
 0����,������� �
�  �������
����'� � � � � � � � � � � (4
7���� ��
 0����,������� � � � � � � � � � � � � � � � � � � � � � � (4
7���� ��	 ����� =�������	��
 ��
����������� � � � � � � � � � � � � (�
7���� �
� 0���������	 � � � � � � � � � � � � � � � � � � � � � � � (�
7���� %��

��
�$ �
� :�
������ � � � � � � � � � � � � � � � � � � � (�

7�� ��	��
��	�
���� ��� �>��
� 6���
�� � � � � � � � � � � � � � � � � � (#
7���� &�
������	��
 

�	�	 �����
 ?�	�	 � � � � � � � � � � � � � � ((
7���� �>��
 6���
� ��� ��
 %����������	�
����� � � � � � � � � (�

' (��������� ���������� )�
(�� :���
�
���
����	�
����	 � � � � � � � � � � � � � � � � � � � � � � � /�
(�� ��	 �
�����
� �� �� � � � � � � � � � � � � � � � � � � � � � � � � � /�

(���� %��

��
�$ �
� ��	��
�
� -;	��� � � � � � � � � � � � � � � /�
(���� �
�����
�	

���
��� � � � � � � � � � � � � � � � � � � � � � � /�
(���� �������� @��� �
	 �
������	�
����	�����
�
�	 � � � � � � � ��

(�� �9
����
�	�����
 �,�
���
��
 � � � � � � � � � � � � � � � � � � � ��
(���� %��

��
�$ �
� ��	��
�
� -;	��� � � � � � � � � � � � � � � �#
(���� �9
����
�	�����
 	�����
��
 ���
�	'�$
 � � � � � � � � � � �44

(�� 0�9
�����	�
�	��
�
 ��� �
��
� ���
� � � � � � � � � � � � � � � � �4�

) *��
�����
����� ��� +������$ �,�
-��
�����

�$
�����	 � � � � � � � � � � � � � � � � � � � � � � � � � � � � ���



�� :�����	

�$
�����	




 ����������

0������� �
� ���
� 	�'��
�
� �
�	���
�$��� 
�� "
�
������������� ��� :��
�������� ���
� 9�� �
��
 
��
 6
	
��	�����1 �� �
� �� ���
$� ���
� ?
�
���
�
��	
�
	 ����'�����
� -
�
�	 ���
� �� ���8
� +
��
� 
���		� ��� �
	�
���
��
9
��
�� ��
�
 A��
��
��
� ��
� :�	��������
� 	
�
� 	��� ��� 	
�� ���8
� ���
�
�����
� ���������
��1 ��
 �
� �

���
�
� 0�	9
����� �>� 	�
 �>�$����
 :�����
������
� 
������
�� *����
����	�� �	� ���
�1 ��		 �������� �
	 ������
��
�
@���	���	 �
	 :��
��
�	 ��� �
� �
����
� *�
�	
 �>� .�
���
��
��
� ���
�
��;8
�
 ���
�����
� 
��	�
�
� ��� �
�
� 0�	9
����� 
�
�
 +
�	��
� >�
�����
�
�� 	���� ���
� �
	�
�� 	
�� 
����
� B���
� 
�� 	�
��
��
� ?
���� �� +
����
�1
��� �
�
� �
�

���
 :����������
� ��	 �
�
�
�
� ���
�����
� ��������	�
��

,�����
�� 9
��
� �;��
�� :� -���
 ��
	
� ���9������� �	� ��	 	� �
�����

���� ������ 
��	����
�1 ��	 	��� ��� �
� 6
9������ 
�� �����$��
�1 ��	����
���
�����
� :����������
� ��	 ���
� �
	��'������ ��
 ���
� 
��9���
��
� ����
���
��
	�>�$�
� �
�����
� 9
��
� ���
� �
� ?
���C ���	
������� 
����� $��
	���
��
��		��
0�9
����� D��
� ��
	
 "
�����
� �
�
��	 �� 
��
� ��
�$��� 9�		
�	���������
�

0��
��
�� .� 9
��
� �
�	��
�	9
�	
 6
�
 ����
�	 +��������!����
� ����!	�
��1
*���
���.
=�
�$
� ���		�D$�
��1 ?
���������	���
� �
� 0	�����!	�� ��	�
9
��
�
�1 ��6����
� �� �
� +
��$�� ���
�	����1 	
�	��	��
 +
		���
� ������
�� ��
�
����'�����	��
 0�	�������	
��
���		
 �
9
��
��
0��� �� �
� @���	����� ���� 
	 
�� ��
��
	 .�
����� �;�����
� 0�9
�����
�

�
	 ���� +�����	� ?
	���
�	 ����� ��
 ���
� 	�'��
�
  ��$��� �
	 :��
��
�	
$�� 0�9������� ������
��
	�>�$�
� 6
	��'��	���$
		
 
��	�
�
� �
� A��
��
��
�
� ��
	��
 ���
�����
�1 $� �
�
� 0�	9
����� ��	����
��
 -
��

�����
� �
�
9��������
�� 
���
	
�$� 9
��
� �;��
��
@
��
� 9
��
� �
�����
� �
	 ��	����
��
� -
��
�	 �
� �
� 0���!	
 ��� ����

�
�	��
 
�� 0���
�� ��
� �

�	
����	
� ����
�	 ��	����	��
� %��	���
�1 $�� ����
	��
�����	����
 �
� �
� �
����
 
�� %�
���
�1 �
� �
�	
��
� 
�� @
��
���
�
�
�� ���
�
		�
��
 %���
� ��
� �
� 	� �
�����
� E�	���
� �
������	��� +���
�
�
�� ���
9����� ���
� ���
� F�
������ >�
� 0�9
�����
� ��
�
�� G?-��H1
	�9�
 G)�4�H�

��
 ����
�
��
 *����
�	�
����� 
��
	 ��	����
��
� -
�������
�	 ����
�I
6
�
�
� 	
� 
��
 ���
��
��


S = {(xi, yi)|xi ∈ X ⊂ �d, yi ∈ Y ⊂ �}n
i=1

�
	�
�
�� ��	 ���
������
� xi 
��
	 d����
�	�����
� +
�����	� ��
� ���
��
����
	 X ��� 0��9���
������
� yi1 ��
 �
� 
���
�$�	��
��
� .���

����� �
�
	���
��
�� 6
	���� �	� 
��
 )������� f : X → Y 1 ��
 �
� ���
����
�
� �����
������
� ��	���
����� $9�	��
� X ��� Y �;�����	� ��� 9�
�
������ ���
� 	���

�



� %0*:"�- �� �: -�:"A 6

f ����� ��� ��� �
� �
�
�
�
� ���
������
� ���
 �� �
� ��
�
������
� ��
�
�1
	���
�� 
�� ���
� �
� �
�
� *����
� ���
 ����
�	��
� ��
�
��� �
� %�������		
$9�	��
� 6
������
�� ��� �
� �
�
�
�
� ���
� ��� 6
�
����	�
���� ��� �
�
�
���
� ��		 �
� ���
� �
�����
� �
	 ��	����
��
� -
��
�	 �
����� 9
��
��

B
 �����
� 9�
 �
� ���� Y �
	����
� �	�1 ���
�	��
��
� ���I

• ����������1 ����	 Y ��
������ �	�1

• �������������1 �>� ��	��
�
	 Y 1 	�9�


• ��	
���	
������1 ����	 Y ��� ��	 
��
� ��
�
�� �
	�
���

��
� ��
	
� 0��
�� �	� ��
 ���9������� 
��
	 �
�
� �
�����
�	 $�� �����
	��'��
$����

���������-�.���
��� A��
�	������ 
��
	 
����
�
��
� ���
�	��$
	 ��� .�������
�1 E��	�
� ��
�
0������
� �	� 
��
 �����
	��'�$��� �
	�
�	 �

���
�1 �� �
� +�		
����
� ��

?
�
����� 
��
	 
��$
��
� 5�3
��
	 J*����
	 �� �������
�	�����
� ����K �
�
�
�  ��� �
�� ��� ��
 >�����
� *����
�*���	 	��9
� �
	��� ��� ���� �
��
��
�
����	�� ��
C
���
 9
��
�� @��� ��� �
�	��
�	9
�	
 
��
� ���
�	��$ ��� E���
	�
� ���
�	���
�1 	� ���� 
��
 �����
	��'�$��� 
���� 6
��
�
 ��� ���
� �����


��
�����
� 	
����
�
� ��� ��
 	�'�
�
 %��		�D������ 
��
����
��� @
��
���� 9
��
�
� �����
	��'�$���
� $�� ��	����	�
���� ��� 0�	9
����� ���8
� ���
��
��
�


�9
��
�� &�� ��� ��
 �����
�������� 
��
	 ���
�	��$
	 
����
�
�1 	� �	� ��
	
�
����� 
���	�'���� �������
��	�
��� :� G���4�H ��� G+*�#H 9
��
� �����
	��'��
$���
� �
�	��
�	9
�	
 $�� 0�	9
����� 
�� ?������
� 
���
	
�$�� :��
�
		��� 	���
�
������
 +
����
� �>� 6
�
��� ��
� .���
��
��	��
�	�
1 ��
 ��
	��
 +
��
� 
��
?������
� �
� .��
���� ��
� ���
�>�
�9������ ����
��
�1 �
�
� ����
��
 0���
�!	
 	
�� $
�����
�	�
 �	�� 0�� '������
 @
�	
 ��		
� 	��� .�������1 "�� ��
� .����
��
��
�����
� ������>��
��

"� ������������
6
�
�
� 	
� ��� 
��
 +
��
 
�� �����'����
�1 ��
���	�� 

��
���
� ���
�

D = {xi ∈ �d}n
i=1.

���
� �
�8� ��
���	�� 

��
���1 ��		 ��
 ���
� �
�	
��
� @���	��
�������
��	

��
�
����� $������
 ��
�
�� 6
	���� �	� 
��
 �;�����	� ���
  '�
���� �
� ���
�
�����
� @���	��
�������
��	�����
�
5��
 9
��
�
 ?
�������
� �� ��
 �����
 ��		 ��
 -;	��� ����� 
���
����

	
�� � ��	 *����
� �	� 	���
��� �
	�
���� �	 
��
�
� 	��� 
��	�����
 ���
��	��

.��9�
����
��
�1 ��
 ��� �
� %��$
�� �
� ��������������� �
����
�� 9
��
�
�>		
� G-��H�
@
��
���� �
	�
�� ��	 *����
� �
� F�
�����		���1 9
���
	 $� 	���
���
� ����

�
�	��

��
���		
� ��� �
�
� ���
� �>��
� ����� 5�� �
	�
�� ��
 0�9
�����
����� �� �
� ?
	������� 
��
� �����
�������� ��� �
� �
�
�
�
� ���
������
�
�1 	���
�� �� �
� 0�	9
����� ��� 
���� ���
�����
� ���
�� ��
� �	� ��	� 
��




�

���
 �
�����
�
��
����� ��
	
 9��� �
� ��	� ���
� -
�����������
� ����� 	�
�
$�
��
 *����
�
� �
	�
�
��� ��
 �������
 �������� ?
	������� ��
	
� *����
�
�
�	� �� �
� �
�	�
� )'��
� ������ ��� 9��� ����� 0�	'�$
 9�
 %�
�$
�����
����1
+
����
� ��	 �
� 	�������
��
� ��	���������
���� ��
� L������
� 

�	����
J	�
�
 G���44H1 G.����H1G@���4HK�

/��������� ����
����
6
�
�
�� ���
�	��
��
� ��� �����
	��'�$���	�
����
� �� ����������	
� ���
��	
�����������	
� �
�����
�� ?
� ����������	
�� 0�	'�$
� �	� �������� ��
 0��
�
� �
��
����� �
������ �	 �>		
� ��� ��	 �
� 
������
�
� ���
� ��
 $��
�
�;���
� *����
�
� �
� �
��
����� 
�����
�� 9
��
�� :	� �
�	��
�	9
�	
 �
�
�����1 ��		 ��
 ���
� ������

��
��� 	���1 	� �>		
� ��� ���� ��9������	9
��
��� ������$ �
	����� 9
��
�� ��
 ���		�	��
� 	����	��	��
� �
�����
� ��
�$�
	��� ��	 ��������
�����
���� ��� ��	 ��������������������������
���� ��	
+�,�����-��
��������
�����
� �
	����� ��
 �
	����
� *����
�
� θ �
� �
��
�
����� ��	 +�,���� �
� -��
�������)�������

L(θ,D) =
n∏

i=1

p(xi, θ) = P (D|θ),

��
 ��	 *���������
� �� �
� 3
9
����
� ���
������
� �
	�
��� 6
�� ��� $�	'�$�
���� 
�� 
��
� �������� �
��
����� �
� �;�����
� *����
�
� ��	1 	� 
��'�� ���

�� +�,�������������������
�����
�1 9
���
	 ��
 �
	����
� *����
�
� �����
+�,���
���� �
� �
�����
� @���	��
�������
�� �>� 
��
 �
	�
 *����
�
�9���
�
� 
����
�
��
� ���
��
��
 
�����
���  ��� �
� .��$ 
�� ?�!
	 ��,���
��
��� ��	� ��
 ������������ @���	��
�������
��

P (θ|D) =
P (D|θ)P (θ)

P (D)
.

:� 6
�
�	��$ ��$� ����
� ��	
�����������	
� �
�����
� �
��
��
� 0�����
�
>�
� ��
 �
��
����� ��� �
	����
� 
��
 �����
�������� ��� ��	 �
� �
�
�
�
�
���
��
:	� �
� "!� �
� �
��
����� �
�����1 9��� 
�� �����
���	��
	 �
�����
� ��


�
	�
 @��� 	
��� 0��
�����	 ���� �
� ���	��
� @��� �
� �
��
����� �
� 0����,��
������	�
��
� ��
��
��	�� �
��
��� ���8 9
��
�� ���
� ��� 	��� �� �
� �
�$�
�
B���
� ��
 )��	�����	���
�� �����	'������ ��� ����������
���	��
 �
�����
�
���$
����
��1 9
���
 ��� �� ������������� ��� ������������ ���
�	��
��
��

• �������������� 0�	'�$
 ��	��
��	�
�
� �
� ���
����� ����� 
�� 6���
� ���
�
	����
� ��
 -;	��� ��	 -��
�������������
� ��	��
�
� ?�	�	��������
�
��	 
��
� )�������
����� >�
� ��
	
� 6���
��

• ������������� �
�����
� 	�
��
� ��� �
� 
������
�
� ���
������
� ��
�

��
� �

���
�
� "
�� ��
	
� *����
 	� �
�����
 �������������� ���� ��

�
	����
 )������� 
����� 	��� ��	 
������
 -��
������������� ��
	
� %
���
��������
��

?
� ���
� �
�����
� �
� �����
	��'�$��� 9��� ���
����
�1 ��		 ��
 �����

�� 
��
� �
	�
� *���� ���M�		 ��� �
��������
 *����
 ���� ?
� ���
���	�
��
�
� 0�	'�$
� � ��� �����	
����� �
����� � �
�
� 
��	��
��
��
 %
����������
�



� %0*:"�- �� �: -�:"A 6

����� ���
 6
	���� ��
 0�	9������
� 
��
	 
��$
��
� *����
	 ��� ��
 6
	����
�����
 
��1 9'��
�� ����
���	�
��
 �
�����
� 
��
� )�������
����� 9'��
�1 �
	�
	
� )�������
� 
��
 �
9�		
 6�����
�� $� 
��>��
� ���
�� A��
	
�$� 9��� ��
	
�
� 
�
�
� ����
���	�
��
� �
�����
� ����� 
��
� �
������	�
����	��
�����1 �
�
��	 .�����
�� ��� ��	 ��
����������� ����
�� 9��� ��� ����� 
��
 .�
�
���� �
�
�
�������'� �
� -;	��� 
��;�������
��� ���8
� ����
�� �
� �
� ���
��	��
� A�	
�$��� 
�� %
��	��'�$
�� �	�1 ��		
��
	
 ��� ��� �
� ���
��
��
 n 	����
�
�� ��
 0��	�
����� ��� -;	��� �
�
(n × n) +����$
� �>� %
�����	�
��
 0�	'�$
 
������ >�����
�9
�	
 �� O(n3) ���
���'���� 
�� �
� ���
�	��� �
	 *����
�	�
6���
���	�
��
 +
����
� 	����
�
� ����
�
� �
�	� ��� ���
�� �� �
� ���
�1 ���
�>� ��
� 
,���
���
�� �� �
� ���
�	���� ?
� 
��
� '=����	����
� 6���
� ��� N
%���
� �� 3
�
� �
� d����
�	���
� 
����� 	��� 	���� 
�� 0��9��� 
�� O(Nd)�
��
	
� 
,���
���
��
 0�	��
� �
	 0��9���	 �>� ��
 ���
��	��
 ?
�
������ 9���
���� ��	 ���	
 ��� ��������� �
$
����
�� B
 �����
� 9�
 ��
 �
������ 
�� n3

$� Nd ��	�'���1 	����
 ��� 	��� �>� 
�� ���
�� �$9� ����
���	�
��
	 �
�����
� 
���
	��
��
��

��
�
 ����������
���	��
 �
�����
� �
� �����
	��'�$��� ��		
� 	��� ������ $�
0�	'�$
� �
� �
��
		��� �$9� %��		�D������ ��	 �������������������� ��� 	���
��
�
�� ��	 >�
� 
��
� �

���
�
� )�������
����� V $� �����
�
��
 )���������
��� ���� ��
 )���I

min
f∈V
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u∈H

J(u) = ‖u‖2
H + n log

∫
exp(u(x))dx −
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u(xi).
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���
��	� .
� p ��
 @���	��
�������
�� �>� ��
����	 A1 ���� �	� ��
 @���	��
���
�����
�� �
� n ������>�����
� �
��� k ��� ��
����	 A $� 
�$�
�
�

P (X = k) =
(
n

k

)
pk(1 − p)n−k,

��� ��
 �
��
�����	�������� 
����� 	��� ��	 .���
 �
� 
��$
��
� @���	��
���
�����
��
�

P (X ≤ k) =
k∑

i=0

(
n

i

)
pi(1 − p)n−i.

0����� ���� ��� �� 	�
���
� )��� ��
 �
��
�����	�������� ����� 
�� :��
����
>�
� ��
 �����
�������� ��	��>��
��

��������� ��	�� J�����
��������K� ���
 ���
���
����
 )������� f �
�8� ��	
�
���������� �
� ������	
������
� X1 ����	∫ b

a
f(t)dt = P (a ≤ X ≤ b)

�����

:	� ��
 �
��
�����	�������� F 
��
� ������	
������
� 	�
��� ��C
�
�$�
����1 	�
�
D��
�� ���
 0��
�����

f(x) =
dF (x)
dx


��
 �����
��������� ��
	
 
��>��� f(x) ≥ 0 �>� ���
 x ∈ � ���∫
�

f(t)dt = 1.

+�� 	���
��� �>� 
��
 @���	��
�������
��	�����
 ���� ���$ ��� J����������
�! �
�	��! ��������K1 ��� �>� ��
 �
��
�����	�������� 	�� J��������

 �
�	��!
��������K�
&�� ��� �>� 
��
 ������	
������
 X 
��
 $��
�;���
 �����
�������� �
�
�
�1

��>��� ��� ��
 �
��
�����	�������� F ��	 :��
����

F (x) = P (X ≤ x) =
∫ x

−∞
f(t)dt
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�
� )��� 9��� �� �
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����� �
�
�
������ ��
 @���	��
�������
��
P (X = x) ��	 �������� ��	
���������� �
$
����
�� ��� 9
	
������
� A��
�	���
�
�	�1 ��		 ��
 �����
 
��
� 	�
���
� ������	
������
� �� 
��
� *���� 

�	��9���
�1
����

P (X = x) =
∫ x

x
f(t)dt = 0,

�� ��
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�9
��
�
� -
�
	��
��8
	 �	�� +��
���� �
� ��������
�����
� �
��
�����
� ��	� ����� 9�
 �� ��	��
�
� )��� 
�� �
�
@���	��
�������
�� �>� ��	 �����
�
� 
�� x 	��
��
�� .�����
		
� �
������
� ���
��
 @���	��
�������
��1 ��		X @
��
 ��	 
��
� �
	�����
� :��
�
��� (a, b)1 ����

��
� �
		���
� +
��
 ��� +�8 ����
���  ��� �������

P (a ≤ X ≤ b) = F (b) − F (a) =
∫ b

a
f(t)dt. J�����K

( ��
�����������
?
�����
	�
	 ?
�	��
� 
��
� �����
�������� �	� ��
 �����
 �
�  �����

��
�����

f(x) =
1√

2πσ2
exp
(

(x− µ)2

2σ2

)
.

��
	
 �	� 
���	�'���� �������
��	�
�� ����� ��9������	9
�� ��� ������$

E[X] =
∫ ∞

−∞
tf(t)dt =: µ, V ar[X] =

∫ ∞

−∞
(t− E[X])2f(t)dt =: σ2.

:� 0�������� ��� 	��� �>� �
	�
� ��9������	9
�� ��� 

�	���
�
�
 ������$
�
3
9
��	 ��
 �����
�������� ��� ��
 �
��
�����	�������� �
� $��
�;���
�  ���
���

��
�����
� 
���
$
����
�� 5C
�	�������� �'		� 	��� ��
 �����
�������� 
��
�
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������	
������
� 9
	
������ �
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�
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 �
��
�����	��������� ?
�
�
� �����
�������� 	�
�� ��� 	����� ��
 +�,����	�
��
�1 ��
 �� �
� �
��
�����	�
�������� ��	 @
��
�����
 9
���
� ���� $� 
��
��
� 	���� ��
	 �	� 
��
� �
�
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6�>��
1 9���� ��� �� �
� �
�	�
� )'��
� 
�
� �� 
��
� �����
��������1 ��	 ��

��
� �
��
�����	�������� �
� 
����
�
��
� ���
� ���
�
		�
�� �	��

����������� �
�� ����������
&�� ��� ��� �
��
�
 ������	
������
� �
�
�
�1 	� ���
�
		�
�� ��� 	��� ������
�
� �>� �
�
� �
�
��	��
1 ��	� �
�����
�	�����
1 �
��
�����	� ��� �����
�����
�����

��������� ��	�
 J6
�
��	��
 �
��
�����	��������K� �	 	
�
� ������	
������
�
X1, ..,XN : Ω → � �
�
�
�� ���� �
�8� 
��
 )������� F : B → [0, 1] �1 ��

3
�
� �
		���
� +
��
 A ∈ B ��
 @���	��
�������
��

P ((X1, ...,XN ) ∈ A) = P

(
�⋂

i=1

{ω ∈ Ω : Xi(ω) ∈ A}
)

$�����
�1 ���������� ���������� ��
	
� ������	
������
��

��������� ��	�� J6
�
��	��
 �����
K� .
�
� X1, ..,XN : Ω → � ������	
��
�����
� ��� �
�
��	��
� �
��
�����	�������� F (x1, ..., xn)� ���� �	� 
��
 L1�
)������� f : �N → [0,∞) 
��
 ���������� ��	
��1 ����	 �>� ���
 �
		���
�
+
��
� A ⊂ �N 	��� �
�
� @���	��
�������
�� ��	 �����
����
����

P ((X1, ...,Xn) ∈ A) =
∫

A
f(t)dt

	���
��
� �'		��

&�� ��� ��
 �
��
����� 
��
	 ������	

����	 �
�
�
�1 	� �	� ��� ��
 �
��
��
���� 
��
� 
��$
��
� %�����
��
 �
� )
	�����
� �
� ���
�
� 
�� :��
�
		
� +��
	������ 
�� �
� ������	
�� 
��
� ������	
������
�� ?
�
���
� 9��� ��
	
 �����
:��
������� >�
� ��
 �
	�����
� %�����
��
��

��������� ��	�� J���������
K� .
� X = (X1, ...,Xn) 
�� ������	

���� �

�9
��
���
� ������	
������
� ��� �����
�������� f � ���� �
�8� ��
 �����


fXi(xi) =
∫
�

...

∫
�

f(x1, ..., xn)dx1...dxi−1dxi+1...dxn

������	
�� �
� ������	
������
� Xi�

1�
��-����$��� � � *��
����
��
����
@�
 �
�
��	 �� �
� ����
����� �
	����
�
�1 �
�
� 9�� �
� �
� A��
�	������
�
�� 	�'�
�
� %����
�� ��
�� ��	1 ��		 9�� �����'����
1 ��
���	�� 

��
���
 ���
�
� 
����
�
� ���
�� +�� 	���
��� ���>� ���� ���$ ������ J���
�
��
���! ���
��
�������! ��	������
�K�

��������� ��	�� J�����'����
 ������	
������
�K� .
� (Ω,Σ, P ) 
�� �
��
���
�
@���	��
�������
��	����� ��
 ������	
������
� X1, ...,Xn : Ω → � �
�8
� �����

�����1 ����	

P (X1 = x1, ...,Xn = xn) = P (X1 = x1) · ... · P (Xn = xn), ∀(x1, ..., xn) ∈ �n.

����� ���
� 9�� ��
 ?
���C
 �����
� ��� �
��
�����	�������� ��
��
��	��

��'��
�� ��� 9
��
� ��	 ��� �
� 
��	��
��
��
� 
�����	��
� 6�;8
� $��
���� B ��� ������ ��� ��������� σ�������� �	� �N �������
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 �

�
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��������

&�� ��� 
��
 +
��
 D = {x1, ..., xn} 
�� ���
������
� �
�
�
�1 9��
� ��
 xi

�����'����
 �
	�����
 �
� ��
���
� ������	
������
� X ���	�
��
�1 	� ���� ���
$��'��	� ��
 �������	
� ������������������� ��
�� ���	�
��
��

��������� ����	 J
���K� ��
 �������	
� ������������������� J���$ 
���K 
��
�
���
��
��
 D = {x1, ..., xn} �	� �
D��
�� ��	

Fn(x) =
#{xi ≤ x}

n
=

#xi ∈ (−∞, x]
n

=
1
n

n∑
i=1

X(−∞,x](xi). J�����K

���
� �	�

XA =

{
1, ����	 x ∈ A

0, 	��	�

��
 	��
�����
 3���������������� ��� A�

Fn ��� 	���� ��
 6
	���� 
��
� "�
��
���������1 ��
 3
9
��	 �� �
� ���
��
�����
� 
��
� .����� ���9
�	�� ��
 ������	
������
 nFn(x) �	� ��������

��
���
B(n, p)1 ��� p = E[Fn(x)]� 6
���	� 9�
 ��
 ?�������

��
����� �>� n → ∞
$��  �����

��
����� ���

���
��1 ���

���
�� ��
 
�����	��
 �
��
�����	�������
�� �
� ���
� ��;8
� 9
��
��
� .��������
 �
�
� ��
 9�������
 �
��
�����	�����
����� ��
	 �	� ���� ��
 0�		��
 �
	 ����
��
� .��$
	1 �
� ����
�
�� ��	 ������
���������� ��� "��������1 ��
� "��� #�� ���#���� ��� 4������� �
$
����
� 9����

���� ����� J)�����
����	��$ �
� .����	���K� /� ��� x1, x2, ... ���� ����� #��
�)�)�) 0�� �������� ����� 1������#�������� ��� ������������������� F ) ��� ���
"��	
����� x1, x2, ..., xn ��
5���� �������	
� ������������������� Fn ���#�������

�$� n→ ∞ ��� .�
��	
�����	
���� 1 ����	
��6�� ����� F ) ������ �������$	��7

P

(
lim

n→∞ sup
x∈�

|Fn(x) − F (x)| = 0
)

= 1.

�
� ��
��
��	��
� ?
$�
���� f(x) = F ′(x) ����
��1 �'8� 	��� ��
 �������	
�
.�
��	
�����	
�������	
�� J���$ 
���K �
D��
�
� ��	 ��
 0��
����� �
� 
������
	��
� ��������

� �
��
�����	��������

fn(x) =
d

dx
Fn(x) =

1
n

n∑
i=1

δ(x − xi),

9��
� δ(x) ��
 �����	��
 �
����������� �	�� ��
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��	� 
��
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���
 )������ ��� �����
 1/n �� 3
�
� ���
�������
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� 	�
���
� �����
�������� �	� 	�
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�
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����� $
��
�� "���$�
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� �
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� �����
�����
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� �
��
�����	�������� �
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�������� ��� ����� �� 
��
� �
��
�����	�������� ���
�
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��� &�
� 	��� 
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�����
	��'�$��� 
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��
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� �����
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�����
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����
�
�1 ��
��	 ��	��� �
� +�		���		�D������ $� 
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���

��� �������������  �
�
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:� )���
��
� 9
��
� ������		
�$���
� �>� ��
 �,�	�
�$ 
��
� �����
��������
�� 0���
�
��
� �
���
� ���
�	����� �� 9�� �� %����
� # ��	 .��������
�����
Ω 
��
� )�������
�����1 $�?� �
� ���� C([0, 1]) ���
� 	�
���
� )�������
� ���
�
� ?
���������	���
�
��� [0, 1] �
�
�
� ���
�1 ������
� 9�� 
��
� ����
�
��
�
�
� ?
���C 
��
� �����
��������� &����
��� �	� ��$� ��	 �
� +�8��
���
 �
� .��$

�� �����  ����!�1 �
� �� �
	�����
� )'��
� ��
 �,�	�
�$ 
�� )�������
�
	���
��1 9
���
 ��
 ����
 
�� �����
� �� ���		�	��
� )��� >�
��
��
�� ?

��
9�� ��
	
� ���
�
� �;��
�1 �
�;���
� 9�� ��
 ����
��
 �
D������I

��������� ��
�	 J��	����	�
���K� .
�
� ν ��� µ +�8
 ��� 
��
� σ�0��
��� Σ�
���� �
�8� µ ������������� �
$>����� ν1 ����	 �>� ���
 E ∈ Σ ��� ν(E) = 0 ����
µ(E) = 0 ����� +�� 	���
��� ���>�I

µ� ν.

)���	 	�9��� µ � ν ��	 ���� ν � µ ����1 	� �
�8
� µ ��� ν �8��#����� I µ ≡ ν�
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���� ��
�� J.��$ 
�� �����  ����!�K� /� ����� ν ��� µ � �� σ������ ��6�
��� (Ω,Σ)) 3�� µ � ν9 �� ��������� ���� ��	
�������#� �������� f ��� Ω ���

��������� /�����	
�����7

:) f ��� Σ��������

&) µ(A) =
∫
A f(x)ν(dx) ∀A ∈ Σ)

��� �������� f ��� ν������$������ ��������� ��������9 ���� 
��6� �$� ;��� Σ�
�������� �������� g ���

∫
A fdν =

∫
A gdν, ∀A ∈ Σ9 ���� f = g ν��)$)

2� ���) ��� ?
9
�	 D��
� 	��� �
�	��
�	9
�	
 �� G?����H %����
� �(�

��
 )������� f ��	 �
� .��$ 
�� �����  ����!� �
�8� ������<����=��
0�������� 
�� µ ���� ν ��� 9��� ��� dµ

dν �
$
����
�� ����� ���� ��� ��
 ��
���
�	����� ��	 ����
� .��$ 	���
��
� ��	I

µ(A) =
∫

A

dµ

dν
(x)ν(dx), ∀A ∈ Σ.

0�	 %��$	���
��9
�	
 �	� ���� µ = f · ν �
��'�������� +�� �
$
����
� ���� f
��	 ��
 �����
 
�� µ �
$>����� ν�

��������� ��
�
 J��	����	�
���
 �
��
�����K� ���
 �
��
�����	�������� F ���
� �
�8� ������������� ���$���	
 ��� 
���������6 µ1 ����	 ��	 
�� ��� 
�$
���

@���	��
�������
��	��8 P ��	����	�
��� �
$>����� µ �	��

:� ��
	
� )��� ��
�
�� �
� .��$ 
�� �����  ����!� 
��
 ���
��
		���
 )����
���� f ���

P (A) =
∫

A
fdµ, A ∈ B, ��	�
	���
�
 ���� F (x) =

∫ x

−∞
f(t)dt.

:	� F ��	����	�
���1 	� �	� F µ���	��>�
���� J��	 ��� -
�
	��
� ����
��
�K ����
�
�
�$�
����1 ��� 
	 ����

dF

dx
= f(x) µ���>�,

��		 �
�8� ��
 0��
����� 
�� F 	����� µ���	��>�
���� ��� �
� ������ ����!��
0��
����� 
�� P ���� µ >�
�
��� 0�8
��
� ���� 	���� �>� 3
�
 ��	����	�
���

�
��
�����	�������� F

F (x) =
∫ x

−∞

dF

dt
dt, ���� F ��� 
��
 �����
 f(t) =

dF

dt
.
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 ��
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	�
���
� ������ ����!�������
� 9
��
� �� 	�'�
�
� %����
��
�
�;����1 �� �
� ?
���C �
� �����
 ��� ��
������
 )�������
��'��
 $� 

�����
�
�
��
���
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 9������
 ����
 �
� �
� @��� 
�� )�������
��'��
� �� �
� 	����	��	��
�
-
����
���
1 	��
�
� 	� �
�����
 ��������������� �����!������������ 0�� ���
�
� ��	�
�
��
 +��
��
 	��� 6�������
 �>� 
��
 ��
�$��� 
�� -
��

�����
�� .�
��		
� 	��� 	'������
 ��� �������������������� ����� ��	�
�
��
 �
�����
� ���
&���
 �
	 ���
� ���
�>���
� �
��'	
��
���
��
�	 ��	 %
�����	�
��
 �
�����
�
���	�
��
�1 �
� �
�
� ��
 -;	��� 	��� ��	 
������
 -��
������������� �
� %
���
��������
� 
��
	 
��	��
��
��
� �
�����$�
�
��
� %
���&���
������
	 ���	�
��
�
� �'		�� ������
� ����
� $�� ?
�	��
�  
������
  
�$9
��
1 "����*���
�.����
	1
������

 +��
��
 ��� .��������
�����+�	����
�� )>� 
��
 �
������
��
�
 0���!�
	
 	
� ��� G..�/H1G6���(H1G..+�/H ��� G@���4H ����
9�
	
�� ��	����	 
���
	�
���
9���
� ��
	
 �'��
 ��#4 
�� �������
� �� G0��#4H�

��������� ����	 J�
�����$�
�
��
� %
���&���
������K� ��� &���
������ H

�� )�������
� f : X → �1 X 	= ∅ �
�8� ���������������� �����!����������
J�%&.K1 ����	 ��
 *������	9
�����
� f → f(x) �>� ���
 x ∈ X �
	���'���

���
��
 )���������
 	����

.
� ��� H 
�� �%&. >�
� 
��
� 6
��
� X �
�
�
�1 ���� 
,�	��
�� ����
�
� ��
	$	��
� ���	�
�����		��$ �>� 3
�
	 x ∈ X 
�� ��
�
�� ηx ∈ H ��� �
�
���
�	�����

f(x) = 〈ηx, f〉 �>� ���
 f ∈ H,

9��
� 〈·, ·〉 ��	 ���
�
 *������ 
�� H �	�� ηx 9��� �
� ����������� �
� 0�	9
��
���� �� �
� .�
��
 x �
������ ��
 )�������

k(x, y) = 〈ηx, ηy〉

9��� ��	 ���������������� ���� �
	 &���
������
	 �
$
����
��
��
 ηx ���
�
� ��
� ������ $� �
� �����	��
� �
�����������
� �� L2� ���

9
	
������
� A��
�	���
� �	� 3
����1 ��		 ��
 �
�����������
� ����� �� L2 ��
�
��
���
� �	� �
� L2 ���� �
�� �
�����$�
�
��
� %
���&���
�������
��� %
�� k(x, y) �
�8� ��	���
 	
���
D���1 ����	

n∑
i,j=1

cicjk(xi, xj) ≥ 0

�>� �
��
���
 n ∈ � 1 x1, ..., xn ∈ X ��� c1, ..., cn ∈ �� )���	 > ����1 	������ ���

��	��
��
�� 
�� ��	���
 �
D����
����� 
����� 	��� 
��
 ������
�
��
 ���
�	����� 
��
	 �
�����$�
�
��
� %
���

&���
������
	I

���� ������ 1� ;���� ��!" ���� �� ���� ���������� ������# ����������� �����
����9 ��� �� ��������� ���������������� ����) >�����
�� ���� �� ;���� ������#

������������ �������� ��� X×X ��� ����������� ��!" #�� ���� ������� �����

������ ��� X �����������  �����)
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�
� $� 
��
� %
�� k �		�$��
��
 &���
������ 9��� ���
� ���	����
��1 ���
� 
�
���
 
������
� -��
�������������
� �
� )���

∑
j cjk(xj , ·) ��� �
�
� -����
�

���
� �
� ����� ��	 ���
�
 *������ ����$�
��
�  ��� 
���'���
0�$��
��
� �	� ����1 ��		 	��� ��� &���
 
��
	 "
�	���������
	 �� ������
�

@
�	
 �
�����
�	�����
 �
�����$�
�
��
 %
���&���
���'��
 �
D��
�
� ��		
��

���� ����
� ��� ?������������ H = H1 ⊗H29  ���� H1 ��� H2 !�����������

��� ���������������� ���� k1 �����
���� ���� k2 ����9 ��� ��������� ��� ��!")

0�� ���������������� ���� #�� H ������ ��	
 ��� @������ ��� ����������������

�����

k((x1, x2), (y1, y2)) = k1(x1, y1) · k2(x2, y2).

2���-��������� ���
:��
�
		��� �>� ��
 -
����
���
 �	� �
� ��	���
����� $9�	��
� �
������	�
�
����	��
�����
� ��� &���
���'��
� ��� �
�����$�
�
��
� %
��1 �
� ����� ��	
	� �
�����
 ������������
����� ��	�
��>��� 9���� ��
	
	 �
�� ��� ����� ���
��������� $��>�� J	�
�
 G@%(�HK� ��
 9
	
������
 0�		��
 �	�1 ��		 	��� ���
�
�
9�		
� �����		
�$���
� ��
 -;	��� 
��
	 ����
�
��
� -
�������
�	 ��	 
���
����
 -��
������������� 
�� ?�	�	��������
� 
�����1 ��
 ��� �
� ���
������
�
��	������
�� 	����
?
������
� 9�� ��$� ��
 	� �
�����
 ?��
���#����������������

R(f) =
1
n

n∑
i=1

(yi − f(xi))2 + λ‖Tf‖2 J�����K

�>� 
��
� �
�
�
�
� ���
��
� 5�
����� T � 6
	���� �	� 
�� +������ 
�� R(f)
>�
� ���
 )�������
� f ��	 
��
� )�������
����� H� ���� 9��� �
� -;	���	�
���� ���
��
 ����� �
� �
������	�
����	�
�� ‖Tf‖2 �������
��	�
��� ��
 �
	���
��
�
��
 -;	��� �'		� 	��� ���� 	���
��
� ��	

f(x) =
n∑

i=1

αik(x, xi) J�����K

��� �
�����$�
�
��
� %
�� k� %��	����
�� 9
��
� ���� ��
	
� %
�� ��� �
� ���
�
�

����
� �
	 ���
��
� 5�
�����	 T � .
�
� {γj}∞j=1 ��
 ���
�9
��
 ��� {ϕj}∞j=1

��
 $��
�;���
� ���
�

����
�� ���� 
����� 	��� �>� �
� %
�� ��
 ���	�
�����

k(x, y) =
∞∑

j=1

1
γj
ϕj(x)ϕj(y). J�����K

A��
�
��� 
,�	���
�� ���� $� 3
�
� %
�� 
�� 
��	��
��
��
� �
������	�
����	�
��
�����1 9�
 �
� ����
��
 .��$ �
	����

���� ������ �$� ;���� ��!" H ��� ���������������� ���� k ��������� ���

�������	
����� ������������������������ T : H → G9  ���� G ��� !����������

���9 �� ���� �$� ���� f ∈ H ����7

〈Tk(x, ·), T f(·)〉G = f(x). J�����K
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〈Tk(x, ·), Tk(y, ·)〉G = k(x, y). J����#K

>�����
�� ��������� �$� ;���� ������������������������ T : V → G9  ���� �
��� ��� ����� "������������ #����
���� �������������� ���9 ��� �������	
�����

��!" H ��� ���������������� ���� k9 �� ���� J�����K ��� J����#K ������)

�����	 ����� ��	�
	���
�
1 ��		 G ��� �
� ���
�
� *������ 〈T ·, T ·〉G 

�	
�
�
� 
�� �%&. �	��
0��
�����	 �	� ��
 ?
$�
���� $9�	��
� �
������	�
����	��
����� T ��� ����

H ��� %
�� k ����� 
���
����1 �� $� 
��
� �
�
�
�
� 5�
����� T ��
��
�
��	�� �
��
�
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�� ��
 ����
 ���	�
�����
����� ��
 ���
�

����
� 
,�	��
�� 3
���� ���
��
+�� &���
 ��
	
	 �
��'	
��
���
��
�	 �'		� 	��� ��	� 
�� ��� ��		
��
 *����
�

��� $9
� 

�	���
�
�
 0��
� ���	�
��
�I ��� 
��
� �� 
��
� ��
���������
�	���
���
� )�������
�����1 $�� ���
�
� ��	 
������
 .��
���	����� 
�� %
�������
����
�1 ��
 ��� �
� ���
������
� ��
�
��
�
�9
��
� ��� 	���� �
� =�������	��
� %�	�
��������� �� J�����K ��
 	� �
�

�����
 ε���	
�	���

 %�	�
��������� ���� ������1 ��		
� 	��� ��� ��
	
 @
�	

.��������
�����+�	����
� ���	�
��
�� )>� �������	!��
���	��
 %
��
 k �
	���
��
�� 
�� ������
�?�	�	��������
��0����,�������	

�����
� ��� ���� �� )���


��
� ����� =�������	��
� %�	�
��������� ��� ��
 -;	��� ����$�
� ���
� ��

6
	���� J�����K1 9�
 ����� ��� ��������� �� G..4�H $
��
��

��& '
��

�
�����

&�� ��� 
��
� �����
	��'�$
� f̂ ���	����
�� 	� 	�
��� 	��� ��
 )���
 ���� 
��
�
�

���
�
�  ��� �� �
		
� 6>�
 �
	����
� $� �;��
�� @�� �
�
� ��$� ��
@
��
�
� ��
�� ��	1 ��		 ��
 5������������
 f 
,���$�� �
�
�
� �	��
���'��	� ��
�
� 	��� ��	  ���
� ��
 Lp� ���
�1 ���

‖(f − f̂)‖Lp =
(∫

|f − f̂ |pdx
)1/p

, �>� 1 ≤ p <∞ ���

‖f − f̂‖L∞ = sup
x

|f(x) − f̂(x)|

��� 0� �'�D�	�
� 

�9
��
� 9
��
� ��
�� �� 0���
�
��
� ��
 L1� ��� ��

L2� ����
+�� ����� 	��� �
���� ��� &���
 �
� ��
�
��	����
������ ����1 ��		 ��
 L1�

 ��� ����� 2 ���� ��
� �
	���'��� �	�� :� 6
�
�	��$ ��$� �	� ��
 L2� ���
��
��
��	�� ���
	���'���� "���$�
� 9��� 	
�� ��� ��
 =�����
��
 L2� ��� $��
)
��
��
		��� 

�9
��
�1 ��	�
	���
�
 9
�� 	�
 ��
��
��	�� �
����
� $� �������
�
� �	�� +�� �
$
����
� �
� ���
���
��
� =�������	��
� )
��
� �
�	� ��� 3"/
A���������� �8����� �����B�

ISE{ ˆf(x)} =
∫

[f̂(x) − f(x)]2dx
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)>� 
��
 �����9
�	
 0�	9
����� 9��� >�����
�9
�	
 ������ �
� �����
�
 =���
�����	��
 )
��
� 

�9
��
�1 �
� 	��� 	���
��
� �'		� ��	

MSE{f̂(x)} = E[f̂(x) − f(x)]2 = V ar[f̂(x)] +Bias2{f̂(x)},

9��
� Bias{f̂(x)} = E[f̂(x)] − f(x)� ��	 <������ �
	 �����9
�	
� )
��
�	 �	�
��	� ��
 .���
 ��	 
��
� ������$�"
�� ��� 
��
� ���	�"
�� �
	 .��'�$
�	�
:� ��������
�����
� )��� �	� ��	 0������� �
� 	� �
�����
 �3"/ A���� �����

������ �8����� �����B

MISE{f̂(x)} = E[ISE] = E

[∫
(f̂(x) − f(x))2dx

]
=
∫
E[f̂(x) − f(x)]2dx

=
∫
MSE{f̂(x)}dx = IMSE{ ˆf(x)}.

0�$��
��
� �	�1 ��		 ��
 L2� ��� ?
�
���
 �� �
�
� f ��
�� �	� 9
���
� 	����
�
9����
� ��	 ��
 L1� ���� B
 �����
� �� ��
	 �
9>�	��� �	� ��
� �����1 	����

��� 	��� �>� ��
 
��	��
��
��
  ��� 
��	��
��
��
:� 	�'�
�
� %����
�� 9
��
� 9�� �
� �����
�
� l2�)
��
� ��� �
� ��	��
��	�
�

����	����
�

MSEgrid{f − f̂} =
1
N

N∑
i=1

(
f(ti) − f̂(ti)

)2
J��#��K

��� 6���
������
� ti ��� �
� ������
� ���
��
��
�

MSEdata{f − f̂} =
1
n

n∑
i=1

(
f(xi) − f̂(xi)

)2
J��#��K

��� �
� ���
������
� xi �
������
��
)>� 
��
 �
������
��
�
 0���!	
 �
� 

�	���
�
�
� )
��
�����
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�
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��
 ��� G.����H 

�9�
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���
�
J������K ���
������
� {(xi) ∈ �d}n

i=1� @�� �
��
� ��1 ��		 ��
	
� ���
� 
��
�
 �����
�������� f $������
 ��
��1 ��
 9�� ��� �
� �
�
�
�
� ���
������
�
�;�����	� ��� �
���	����
�
� 9���
�� 6
	���� �	� ��	� 
��
 0����,������� f̂(x)
�
� ���
�����
� �����
�������� f �
6����	'�$���� ���
�	��
��
� ��� ���
� �����
���	��
 ��� ����������
���	��


�
�����
�� :� 
�	�
� 0�	������ ��
	
	 %����
�	 	�
��
� 9�� ��
 ����������	
�
�����
	��'�$��� ���$ 
��� ���
� �
�� ��� ��
�� ��	1 ��		 �
� �
��
�����	�!�
�������� �
����� �	� J$�?�  �����

��
�����K1 ��	� ��		

f(x) ∈ {f(x|θ), θ ∈ Θ}, ($�? Θ = �k)

����� 0�����
 �	� 
	 ���1 ��
 
��	��
��
��
� *����
�
� θ �
� �
��
����� ���
6�������
 �
� ���
������
 �;�����	� ��� $� 	��'�$
� J$�?� ��9������	9
��
��� ������$ 
��
�  �����

��
�����K�
:� $9
��
� 0�	������ �
�
� 9�� ��� ��
 ��	
�����������	
� �����
	��'�$���
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� �
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�����
�
�
�
�� +�� 
�����
�� ��	� ���
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 ��	 �
� �
�
�
�
� ���
� 
��
 0����,����
���� �
� ��	��>������
� �����
���������

3
�� ��� ��� ���-�.�� ������
�
��������4
�	 ��� 	��� ��	 >�
���	��
�� 	��9�
��� �
���	�
	�
��� 
��
 �
���
 �
D������ 
��
	
����������
���	��
� .��'�$
�	 ��$��
�
�� 6��� ���� ��� 	��
�1 ��		 
�� ������
�����
���	��
� .��'�$
� �>� 
��
 ���8
 %��		
 
�� $� �����,���
�
��
� �����
�
���
��
� �;��
� 	���� 0��
�����
 9��� �
	���1 
�� ����������
���	��
� .��'�$
�
	����
 �;�����	� 
�
�
1 �� ?
	�
� ��
������ 
�
�
 ��
�
 *����
�
� ���
��  ���
��
	
� �
�	�'����	 �	� �
�	��
�	9
�	
 ��	 �� %����
� # 
���
	�
���
 �
�����
� 
��
����������
���	��
� .��'�$
�1 ���� 9
�� �
� ������
�
��
 0�	��$1 �
� ����
�
�
� �
�����
� 	�
��1 
�� ���		�	��
� �����
���	��
� .��'�$
� �	�� ��
 �
���

%��		�D$�
���� �� �����
���	��
 �$9� ����� �����
���	��
 �����
	��'�$��� �	�
�
� 
�
�
� ����
��
� �
�����
� �
����� ����� ���
� �����
@�� 	�
��
� �� ��
	
� %����
� 
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L(θ,D) =
n∏

i=1

p(xi, θ) = p(D|θ).
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L(µ, σ,D) =
n∏

i=1

1√
2πσ2

exp
(
− 1

2σ2
(xi − µ)2

)
.
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l(θ,D) = − logL(θ,D) = −
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i=1

log f(xi, θ)
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l(µ, σ,D) = −n log
1√

2πσ2
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n∑
i=1

− 1
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(xi − µ)2.
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σ2
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f(θ|D) =
f(D|θ)f(θ)∫

Θ f(D|θ)f(θ)dθ
.
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θMAP = argmax
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P (X ∈ Ij) � 1
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XIj(xi)
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f̂(x) =
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XIj(xi)
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������ ���	

�
������
�
� 6
��
�
	� ���� �
D��
�
� 9�� ��	 #��������������� !���������
��
	
� .��������
 ��	

f̂(x) =
1
nh

n∑
i=1

N∑
j=−q

Bj,q(xi)Bj,q(x). J�����K

&�
��
� ��� 3
�
� ���
������ ��� ����� ��� ��� ��	 :��
�
���1 �� �
� 
� ��
��1
	���
�� ��� (q + 1) :��
�
���
 ���M�		�
@�
 ��� �� 0�������� ��� 	�
��1 
��	�
�
� ���'���� 
�� �
� @��� 
�� h 	
��

���
�	���
�����
 .��'�$
�1 ��
 3
9
��	 ���
�
 :��
���
������	��	'�$
 �
� ���
�
$���		
�� :� 0�������� ��� �	� ��
 5������ �
� ?�.����
	 
����
�� 9���
�� +��
	�
��1 ��		 �>� p = 0 9�
�
� ��	 .��������&�	������� 
��	�
��� )>� �;�
�
 5���
����
� 9��� �
� �
	����
�
��
 .��'�$
� 	������� �����
� ��� 
��$
��
 0�	�
�8
�
����
� 9
���
� ��	 6
9�����
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 ��	�
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���
	�
���
� &�	�������
 	��� ����
���	�
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 .��'�$
�1 �
� �
�
�

�
� �����
 ���M�		 �
� ���
� ��� 
�� �
	�
	 :��
�
��� �
	 6���
�	 �
	���'��� 9����
:� 6
�
�	��$ ��$� ���� 
	 ��
 ��
� �
�����
� ���
�$
����
��
� 0�	'�$
1 ��
 ��
3
�
� ���
������ 
�� :��
�
��� �
�
�1 ��� 9
���
� �
� ���
������ ��
 �����

�

��M�		�� :� ����
��
� 0�	������ �
������
� 9�� 
��
 
�	�
 �������
 ��
���

����� ������� ��� � �������� ��������

�
� +
����
 �
� k �'��	�
�  ������� ��
�� ��
 0�����
 $������
1 ��		 ��

�����
�������� �� $9
� ���
 �
�
�����
� ��
�
��
� *����
� '������
 @
��

�������� &�
��
� 9��� �>� 3
�
	 x ��
 ����
����� $� ���
� ���
������
� xi

�
	������ .
� ��$� d(x, y) 
��
 0�	����	�������� J�� 
�����
�	�����
� )���
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|x − y|K� +�� �
�
���
� d(x, xi) �>� i = 1, ..., n ��� 	����
�� ��
	
 ���	�
��
���
 ��� �

���
�
� A��
�
����� 
��'�� ���

d1(x) ≤ d2(x) ≤ ... ≤ dn(x).

���� �	� �
� .��'�$
� �
� k �'��	�
�  ������� �
D��
�� ��	

f̂(x) =
k

2ndk(x)
.

��� �
		
�
� �
�	�'����	 ��
	
� +
����
 9��� �� )���
��
� ��
 &
��
�����
�
$
����
.
� x0 
�� �
��
���
� *���� ��� f(x0) ��
 �����
 �� ��
	
� .�
��
� ���� 
��

9���
� ��� �
� 
��
� .��������
 
�� A����� n1 ��		 2rnf(x0) ?
���������
�
�� ��	 :��
�
��� [x0 − r, x0 + r] ����
��  ��� �
D������ ��	
�
� dk ����
� �
���

k ���
������
 �� ��	 :��
�
��� [x0 − dk(x0), x0 + dk(x0)]� 0�	� ��
�� 
	 ���


k = 2dk(x0)nf̂(x0)

$� 	
�$
��  ��� A�������� 
��'�� ��� ���� ����
 6�
�������
:� 6
�
�	��$ $� �
� ��	�
� �
������
�
� &�	�������
� ���
���
�� f̂ �����
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��	� ��
	 ��
�� �����1 ��		 ���� ��8
����� �
	 @
��
�
�
���	 �
� 
�����
��

.��'�$
� ����
���  ��� �	� ��� ��� 	
�� ����	�� ���'���� �
	 @
��
�
� �	� ��
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	 �
�����
� �� ���
� ���
�	���
� ��� 	��9
� ��9
�����1 �� 
��
 �

���
�

0�	����	�������� ���
�
�
� 9
��
� ��		�

����� ����� �� ��� ���������
�� !�����

��
 ��� �
��
� 
�� ����������
� ?�	�	��������
� ��	�
�
��
� .��'�$
� �����
�����
�
� '������ 9�
 )�������	�����,�������
� ����� )����
���	
�� :� �
��
�
)'��
� 9��� ����� F�
����� $� 
��
� 
������
� �
��
 ��	 *����
� ��	��
��	�
���
.
� {φj}∞ν=0 
��
 ����������
 ?�	�	 
��
	 )�������
�����
	 >�
� [0, 1]1 �� �
�

��
 �
	����
 )������� f ��
��� ���� �'		� 	��� 3
�
 )������� f ��
	
	 ����
	
	���
��
� ��	I

f(x) =
∞∑

ν=0

fνφν(x)

9��
� ��
 fν ��
 >�����
� %�
N$�
��
� �
� )������ ��� �
� ?�	�	 φν 	���I

fν =
∫ 1

0
f(x)φν(x)dx J�����K

?
�����
	�
	 ?
�	��
� ���>� 	��� ��
 )����
���	
�I

φ0(x) = 1

φ2r−1(x) =
√

2cos2πrx

φ2r(x) =
√

2sin2πrx
r = 1, 2, ...
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� X 
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������
1 ���� �'		� 	��� J�����K ��	 ��9������	9
�� ���
���
�
��
�
�

fν = E[φν(X)],

��� 	���� 	��'�$
� �����

f̂ν =
1
n

n∑
i=1

φν(Xi).

 �� 	���
��
� ��� ��
 ��
������
 .���

∑∞

ν=0 f̂νφν ���� k .������
� ��
��� 
��'�� 	� �
� .��'�$
� f̂ �>� ��
 ���
�����
 �����
I

f̂(x) =
k∑

ν=0

f̂νφν(x).

:� ��
	
� )��� �	� �
� *���� k1 �� �
� ��
 ��
������
 �
��
 ���
	������
� 9���1
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� �
� ��
 �
�������'� �
� -;	��� 
������� )>� k → ∞ 
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�1 ��	� �
���
 9�
�
� ��
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�� �>� k = 0 ��
 %��	����
 ���	 �
	����
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		��� �	� ��
��
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�� ��	���
����� $�� &�	�������� �
�9
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 ?�	�	��������
� &����@�

�
�	 ��� 
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� ��	��
��	�
����	����
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	� 
����� 	��� �����	 ��	 .��'�$
� 9�
�
� 
�� .���������	�������� ��
 
��	��
�
��
��
� ?�	�	��������
� 	��� ���� �>� m = 2k + j 1 j, k ∈ �

φ0(x) = 1 J�����K

φr(x) =

⎧⎨
⎩ 2k/2 x ∈

(
j−1
2k ,

j−1/2
2k

)
−2k/2 x ∈

(
j−1/2

2k , j
2k

) . J����#K

����" #�������������� ��

��
 .��'�$
�1 �
�
� �� 3>��	�
� �
�� 9��� ��
 �
�	�
 )��	�����	���
�� �
9���
�
9���
1 	��� ��
 ������	
���	
������ ��� ����
�� ��
	
� �
�����
� �	�1 ��		 ���

%����
,��'� �� @
	
������
� ��� 
�� �
� 0�$��� �� ���
������
� ���'����
�
� 	� �
�����
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 ��� ��������� �'		� 	��� ����� $� 
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� �
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�
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��	 	��� ��
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� +����$
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�$�1 	� ��		

��
 -;	��� �
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� 0�	������ �>��
�
9�� �
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�����
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��1 �
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����
 0�9������� 
��
	
&�	�������	 ���	�
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8
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�
� 9�� ��� ����
�
��
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��	��'�$
� 
���

��� �
��� ���-�.��

.
� 9�
�
� X 
��
 	�
���
 ������	
������
 ��� �����
 f � ���� ����� ��	 �
� �
D�
������ �
� @���	��
�������
��	�����
 ����# ��� J�����KI

f(x) = lim
h→0

1
2h
P (x− h < X < x+ h). J����7K
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@�� 	��'�$
� P (x−h < X < x+h) ����� �
� 0��
�� �� @
��
�1 �
� �� :��
�
���
(x− h < X < x+ h) ��
���
��$� �>��
� 9�� 
��
 6
9�������	�������� w 
��I

w(x) =

{
1
2 ����	 |x| < 1
0 	��	�

. J����(K

����� �'		� 	��� �
� 	� �
�����
 ���

 .��'�$
� �������
�
�I

f̂(x) =
1
nh

n∑
i=1

w(
x− xi

h
). J����/K

��
	 
��	������ �
� *���$�
���� 
��
� ���	����
� )������� �
� &;�
 (2nh)−1

��� 
��
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�
��� �
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 2h �� 3
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� ���
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� ���
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�
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� ���
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� ��� 	���� �
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$
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� ���
��
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��
� :��
�
��� ����
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 @��� �
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�
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� �
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 ��	 �����
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� �	�� 6
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� '������ 9�
 �
� $
�����
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� ��C
�
�$
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�� ��� �
D��
�� �
� .��'�$
�
f̂ ��	

f̂(x) =
Fn(x− h

2 ) − Fn(x+ h
2 )

h

=
1
nh

n∑
i=1

X(− 1
2
, 1
2
]

(
x− xi

h

)

��� 
�����	��
� �
��
�����	�������� Fn ��� :���������������� X1 	� 
��'�� ���
9�
�
��� �
� ���

� .��'�$
�� 0����� $�� &�	������� �	� �
� 	� 
�����
�
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�
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��� ���� ��C
�
�$�
���� ��� 
	 ��
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� �
�
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� @��� �
� ?�����
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 ��$� ��� 	���� �
� 	�>��9
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 ���	����
� 6
9�������	�������� 
��
 �����
�

)�������
� K ���

∫∞
−∞K(x)dx = 11 	� 
��'�� ��� ��
 ����
�
��
 )��� 
��
	

%
�������
	��'�$
�	I

f̂(x) =
1
nh

n∑
i=1

K

(
x− xi

h

)
. J�����K

5�� 9��� �>� K 
�� 6��8�%
�� �
9'���� ��	 h 
��	������ ���� �
� .��������
��9
������� �����
 �'�D� 

�9
��
�
 %
��
 	���I

•
Knaiv(x) =

1
2
, |x| ≤ 1



����  :E&"*0�0+�"�:.E&� �:E&"�.E&L"��� ��

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
0

0.5

1

1.5

2

2.5

3

3.5

��������� �	*� #������� ����� !������+����� ��� ,��-$!���

•
Klinear(x) = 1 − |x|, |x| ≤ 1

•
Kgauss(x) =

1√
2πσ

e
−(x−µ)2

2σ2

•
Kepanechnikov(x) =

3
4
(1 − x2), |x| ≤ 1

•
Kcauchy(x) =

π

1 + x2

•
Kpicard(x) =

1
2

exp(−|x|)
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 ���
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��
	
 �
� 6��8�%
�� ��� �
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� ��
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�
0��9��� �
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� ���
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�
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����� 	
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	 ����������
���	��
� .��'�$
�	1
��
 ���  ����� ��� ����� $��>�� �
��1 ��		
� 	��� ���
$� 	'������
 �
�����
�
� �
� �����
	��'�$��� ��	 %
��	��'�$
� ���
���
��
�
�� ��
 0����
� $
��
� ��
���
� 0��
�� G".��H1 ��		 	��� ���
 .��'�$
�1 �� �����
���	�� ��
� ����������
�
���	��1 ��	 #��������������� �����	
����� 	���
��
� ��		
�� ?
� �����
���	��
�
.��'�$
�� ���
� ��
 ���
������
 ������
� ���M�		 ��� ��
 �����
1 9'��
�� �
�
����������
���	��
� .��'�$
�� �
� ���M�		 ����� �	�� .� ��� $�� ?
�	��
� ��	


�����
�
��
��
 &�	������� �� 6�
������ J�����K �
�
��	 ��
 )��� 
��
	 %
���
	��'�$
�	� 0��� ��	 �
�����
� �
� ���'��	�
�  ������� �'		� 	��� ��	 %
��	��'��
$
� ���
���
��
�
�� ���
� �	� ��
 ?�����
��
 �
� ���
�$
����
��
� %
����������
�
���'���� 
�� �
� -��
 �
� �'��	�
�  �������1 ��	� ������
 $� 9'��
��
0����� ��		
� 	��� ���
 �
�����
�1 ���� 	����
1 ��
 ��	 5�����
����	�����
�


��
	 $��
�	� =�������	��
� )���������	 �
	����
�
� 9
��
�1 ��	 

�����
�
��
�
��
 %
��	��'�$
� ���
���
��
�
�� ���
� �
�8� 

�����
�
��
��1 ��		 	�9��� ��

?�����
��
1 ��	 ���� ��
 %
����������
� 	
��
� ������
 �
9'��� 9
��
��

���� 
���� J6
�
��� %
��
� "�
��
�K� C���� ��	
���	
����� ��� ��� ��������

��� �D��������%������������� ���������� ��� �������	
�� �������������������

���9 ����� ��	
 �	
������ ���

f̂(x) =
1
n

n∑
i=1

K(x, xi, Fn), J�����4K

 ���� K ��� �D����� 0�������� #�� f̂ ����� ��������� ��� xi ���)

2� ���) ��
 
�����	��
 �
��
�����	�������� ��	 J�����K ����
�

Fn(x) =
1
n

n∑
i=1

X[xi,∞)(x). J������K

.���
��
 �
� �����
	��'�$
� ��	 5�
����� f̂(x) = Tx{Fn}� @�� �
D��
�
�

K(x, y, Fn) ≡ lim
ε→0

1
ε
[Tx{(1 − ε)Fn + εX[y,∞)} − (1 − ε)Tx{Fn}]

= lim
ε→0

1
ε
[Tx{Fn + ε(X[y,∞) − Fn)} − Tx{Fn}] + Tx{Fn}

= DTx(Fn)[X[y,∞) − Fn] + f̂(x),

9��
� DT (φ)[η] ��
 6��
T�, 0��
����� 
�� T �� φ �� �������� η �	�� �� ��

6��
T�, 0��
����� �� $9
��
� 0����
�� ���
�� �	�1 ����

1
n

n∑
i=1

K(x, xi, Fn) =
1
n

n∑
i=1

DTx(Fn)[X[xi,∞) − Fn] + f̂(x)

= DTx(Fn)

[
1
n

n∑
i=1

X[xi,∞) − Fn

]
+ f̂(x)

= 0 + f̂(x).
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DT (φ)[0] = 0.

0�	����
8
�� �'		� 	��� 	��
�1 ��		 	��� 
��
 ��
�$��� 
�� �
�����
� �
� �����
�
	��'�$��� ��	 %
��	��'�$
� 	���
��
� �'		�1 9��
� ����� @��� �
	 %
��	 �
�
)�������
�����1 ��	 �
� ��
 -;	��� 	�����1 
���
�
�
� 9����
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��
��	�� 9
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� ��	 ��
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�
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���K� &��������� ���>� �	� ��
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����
�� �
� 
���1 ��


	 $�����
	� 
������ 
��
 L2� ��� ��$�9
��
�� ��
	
 ���
�	����� ����
� 9��
��	 �� �
� ��
� 
���
	�
���
� �
�����
� $����$
�
:� 
�	�
� 0�	������ 	�
��
� 9�� $��'��	� ��	 �
�����
� 
�� �������1 ���!

��� ��� ������� 
��1 9
���
	 ��
 6�������
 �>� ��	
�
� 0�	��$ 9��� ��
	
�
����������
���	��
 .��'�$
� �
	����� ���
�� ��	 �
� ���
� 
��
 0����,�������
�
� �����
�������� ��	 -��
������������� 
��
� �

���
�
� )�������
��������
	�	� 0�	����
8
�� �
�
� 9�� ��� 
�� 
�� ������ ��� 	
����
�� �� G+���H
	�9�
 G@6.+��H 
���
	�����
�
	 �
�����
� 
��1 9
���
	 ��� �
� 
�����	��
�
�
��
�����	�������� ���
��
�� ��
 @
��
 �
� 
��� �� �
� ���
������
� xi 9
��
�
� ���
� ��	 ��
�
������
 yi ���
���
��
�� ��� ��	����
8
�� 
�� .��������
�����
�
�����
� ���
9
��
�1 9
���
	 
��
 0����,������� �
� �
��
�����	�������� ��	
.���
 
�� %
����������
� ��� �
� ���
������
� �
	������ ��� 
�� ��	 
����
��	�
��
	 �
�����
� �
�����
� 0�	��$1 9
���
	 
��
 %���������� �
9�		
� 0��
�
��
 ��
	
� �
��
� .��'�$
� ���	�
���1 9��� ���� 
���
�>��� ��� 
�	�
 ���
���		

����� ��'	
���
���

!�� �

 )����" 	�� $
�����* $���

 + ���

��

��
 +���
����� �
	 
�� �������1 ������ ��� ������� 
��9���
��
� �����
�
	��'�$
�	 �	� ����
��
I 0��
����
� 9�� ���
� 
��
� .��'�$
� fε ��	 �
�
���
� {xi}n

i=1 �
�
�
�1 9
���
� �� L2 ��
��� L������ 9�
 �
� .����
 6�'��
��
J	�
�
 G@���4HK ��
� ����
�
��
� �
������	�
����	�
�$9
��
� 	���
� 9�� ���

��
 0����,������� f̂ 1 ��
 ��	 )���������

J2(u) =
∫

Ω
(u(x) − fε(x))2dx+ λ‖Lu(x)‖L2 J�����K

�>� 
��
� �
�
�
�
� ��C
�
�������
����� L ������
��� :� 9
���
� )��� ��	 fε


����
��1 9��� ���
� ����� �
���
� �
	��
�
��� ���
 +;������
�� 9'�
 
�� 
������
	
&�	������� �
� �
�
�
�
� ���
��
�
� $9
��
 "
�� ��	 J�����K ���������
�� ��
 6�����
�� �
� �
	����
� )������

��1 9'��
�� �
� 
�	�
 "
�� �
� )
��
� $�� �
�
��	 �
�
�
�
� .��'�$
� fε ��	�
��>���� +�� �
� *����
�
� λ ���� ��� ��
 6
9������� �
� 
��$
��
� "
��

�������
�
�� 0����� $�� ?�����
��
 h �
� %
��	��'�$
�� ���
�� ��	 λ �� ��
	
�
���	�
����� ��	� ��	 6�'�����	�����
�
��
��
	
 )��� 
����
�� ����� 	���� �� ��
�����������
1 9�
 	�
 �� �
� �
�����

��	�
����	��
���
 ���
� �
�  ��
� ?��
���# ��������������� ��������
�1 	�
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$�� ?
�	��
� �
� �
� )�������	�
���	�������� ��
� �
��
		���1 	�9�
 �
� �
�
%��		�D������ ��
� E��	�
�����!	
� 0���
�
�� �
�� 
	 3
9
��	 ����� 
�� 	���
���
�
	�
���
	 *����
� ����� ���$��>�
� 
��
	 6�'�����	�
��	 $� �
������	�
�
� ���
����� 
���
���� �;	��� $� ����
��
��
 ���������	��
������ �>� ��
	
	 *����
� ����
� ���I∫

Ω
s(x)(u(x) − fε(x))dx + λC(u, s) = 0, ∀s ∈ H2(Ω).

��
� ∫
Ω
u(x)s(x)dx + λC(u, s) =

∫
Ω
s(x)fε(x)dx. J�����K

���
� �	� C 
��
 	�
���
 ?����
������ ��� 
��
� &���
������ H ⊂ L2(Ω)� F����
��
�9
�	
 9'��� ���

C(u, s) =
∫

Ω
Lu(x) · Ls(x)dx

�>� 
��
� ��C
�
�������
����� L� 0�� �
� �
���
� .
��
 
�� J�����K 	�
�� 
��
 0��
��9������	9
����
������ ��� ���
��
�
��
� 0�	��$ �	� ���
�1 ��
	
� ����� 
��

+���
�9
��������� $� �����,���
�
�I∫

Ω
s(x)fε(x)dx = E(s) ≈ 1

M

M∑
i=1

s(xi).

����� 
����� 	��� ��
 ���������	���� �>� ��
 �������
 -;	��� f̂ I∫
Ω
f̂(x)s(x)dx+ λC(f̂ , s) =

1
M

M∑
i=1

s(xi), ∀s ∈ V J�����K

⇔ 〈f̂ , s〉L2 + λC(f̂ , s) =
1
M

M∑
i=1

s(xi), ∀s ∈ V. J�����K

&�
��
� 	�
��� ��� 
��
 ������
�
��
 A�	���
��
�� �
	 �
�����
�	 �
	�� .� 9�

E(s) �
D��
�� 9���
1 �	� �
���
 ��
 
�����	��
 �����
��������1 ��	� ��
 .���


�� �����U	��
� �
�����������
�1 ��	 fε �
9'��� 9���
�1 �>� ��
 
��
 L2� ���
����� 
,�	��
��� ���
� 9��� ��
	
 
�	� ���� +�����
���� �� �
� 	��9���
� )���

���
	
�$�� A� ��
	
	 *����
� $� ���
�
�1 9
��
� 9�� 	�'�
� ��� �
� 
������
	��
� �
��
�����	�������� ���
��
�1 ��
 	�>��9
�	
 	�
��� ��� ���
���
���� �	��
��
 0����
� 
�9'��
� ��8
��
� �� ���
� 0��
��1 ��		 ��� ��
	
� 0�	��$ ����

��	 %
��	��'�$
� ���
���
��
�
� ����� @'��� ��� $�� ?
�	��
� ��	 6�����
��
�
Ω = � ��� ��	 ��C
�
�������
����� ��
 �� 0��
�����1 	� ���� ��� ��	 6�
������
J�����K ��
 ���
� 6�
������
� ���
��
� ��	I

u(x) + λu(4)(x) =
1
n

n∑
i=1

δxi(x).

)���	 ��� 
��
 6�

�	��
 )������� g ���1 ��


g(x) + g(4)(x) = δ0(x)
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��>���1 ���� ��� ��
 )�����
�����;	���
� 	���
��
� ��	I

f̂(x) =
1

nλ1/4

n∑
i=1

g

(
x− xi

λ1/4

)
.

0�	 0����,������� 
��'�� ��� ���� �
���
 
��
� %
��	��'�$
� ��� %
��

g(x) =
1√
2

exp
(−|x|√

2

)[
cos

( |x|√
2

)
+ sin

( |x|√
2

)]
.

��
	 �'		� 	��� ���� �>� ����
�
��
�
 ��C
�
�������
�����
� ��� �
	���'���

6
��
�
 Ω $
��
�� 6�������
 �	� ��
� ��
 ?
$�
���� $9�	��
� �
������	�
����	�
��
�����
� ��� &���
���'��
� ��� �
�����$�
�
��
� %
��1 9�
 	�
 �� %����
�
��� �
�
��	 
���
	�
��� 9���
�
��� ���
��	��
� -;	��� �
	 ����
� .!	�
�	 9��� 
��
 )����
���
�
��
�0����,�
������� ���
9
��
�� .
� {ϕi}N

i=1 
��
 ?�	�	 
��
	 "
������
	 VN ⊂ V � @��
	���
��
� ��
 �
	����
 -;	��� ��	 f̂(x) =

∑N
j=1 αjϕj(x)� ����� 
��
�
� 	���

��
 6�
������
� k = 1, ..., N I

N∑
j=1

αj〈ϕk, ϕj〉L2 + λ
N∑

j=1

αjC(ϕk, ϕj) =
1
M

M∑
i=1

ϕj(xi)

�$9� �� +����,	���
��9
�	
I

(M + λC)α =
1
M

BT1,

9��
�
Mi,j = 〈ϕi, ϕj〉L2 , i, j = 1, ..., N

������������1
Ci,j = 〈Lϕi,Lϕj〉L2 , i, j = 1, ..., N

���������������������� ���

Bi,j = ϕj(xi), i = 1, ...,M j = 1, ..., N

����������� �
����� 9
��
�� �	 
�	�
�� ��	� ���� +����
���� �
	 =��������
	��
� )���������	 J(u) 
�� ���
��
	 6�
������		!	�
�1 9
���
	 ��� �

���
�
�
�
�����
� $� �;	
� �	�� ��
	
	 �	� �>�� �
	
�$� ��� ���� ���
�1 ����	 V ��
 ���
��
	��� d << n ���1 �� O(n + d) 5�
������
� �
�;	� 9
��
�� 0�	 ?�	�	��������
�
9
��
� ?�.����
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�
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�
 �
	 ��	����
��
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���
	
�$��
��	 $� �;	
��
 *����
� �	� ��
� 
�� ���		�	��
	 �
��
		���	�����
�� �	 	���

��	� ��	 �
�
�
�
� "�������	���
�

D = (x1, y1), ..., (xn, yn) xi ∈ X, yi ∈ Y


��
 )������� �
	����� 9
��
�1 ��
 �
� ���
����
�
� ����������
� ��	���
�
����� $9�	��
� X ��� Y �;�����	� ��� 9�
�
������ �	 9��� ���
� 
����	�
�
	
�$�1 ��		 	��� f 	���
��
� �'		� ��	

f(x) =
∞∑

j=1

cjφj(x) + b, J�����K

9��
� {φj(x)}∞j=1 
��
 +
��
 
�� ���
�� �����'����
� ?�	�	��������
� �	�� ��

*����
�
� cj ��� b 	��� ��	 �
� ���
� $� �
	����
�� 5��
 9
��
�
 �����	�
	
�$���
� �� f �	� ��	 *����
� 	���
��� �
	�
���1 	���		 �
� >�����
 0�	��$ �
�
�
������	�
����	��
���
1 
��
� $�	'�$����
� 6�'�����	�
�� ��� ��	 )���������
$� ����
�
� J?��
���#����������������K1 

�9
��
� 9���� �	 
��	�
�� 
�� $� ���
����
�
��
	 )��������� �
� )���

min
f∈H

R(f) = C
n∑

i=1

Vε(yi − f(xi)) +
1
2
Φ(f). J�����K

������ 	���'�� �� ��
	
� .�
��
 ��
 @��� �
� 	� �
�����
� ε����������#��
��������������

Vε(x) =

{
0, ����	 |x| < ε

|x| − ε 	��	�
J�����K


��� ����� 
��'�� ��� 
�� 0����,�������	�.��
��1 9
���
	 "��������������
���	
��� �
����� 9���I

f(x, α, α∗) =
n∑

i=1

(α∗
i − αi)K(x, xi) + b, J�����K

9��
� α∗
i ��� αi ��	���

 %�
N$�
��
� 	���1 ��
 ��	 ����
��
 =�������	��
 *���

����� �;	
�I

min
α∗,α

R(α∗, α) = ε
n∑

i=1

(α∗
i +αi)−

n∑
i=1

yi(α∗
i −αi)+

1
2

n∑
i,j=1

(α∗
i −αi)(α∗

j−αj)K(xi, xj)

J����#K
��� �
�  
�
��
�������
�

0 ≤ α∗, α ≤ C
n∑

i=1

(α∗
i − αi) = 0

αiα
∗
i = 0 ∀i = 1, ..., n
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K(x, y) =
∞∑

j=1

γjφj(x)φj(y).

��
	 �	� �
���
 �
� �
�����$�
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��
 %
�� 
��
	 �
�����$�
�
��
� %
���&���
���
����
	� �	 �'��� ���
� ���1 ��		 �
� *����
�
� b ����� �
�� ���������1 �� 
�
���� %
�����	 �
� αi ��� α∗

i 
�����
�� 9
��
� ����� 0������� �
� .������� �
	
+�����
����	�����
�	 9
��
� ��� 
����
 �
� %�
N$�
��
� (α∗

i − αi) ����
���
 ��� 	
��� ��
 $��
�;���
� ���
������
 xi 	��� 	� �
�����
 "����������������
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�
�
 .��������
����
� 
	 ����1 �'��� 
�� ε �� �
� %�	�
��������� ��� �
�
�
������	�
����	�����
�
� C ��� )���	 �
�� ���	��
� >�
� �
� ���
� ��
��1 �	�
��	 �������
 C ��
�������
)>� �
� )��� �
� %��		�D������ ���� ��� 	��� �
� .��������
�����0�	��$ 	
��

��	�������� ��	 
��
 &!�
�
�
�
 
��	�
��
�1 9
���
 ��
 �
��
� %��		
� ��
����
��
 .��������
����
� 	��� ���
� ��
 ���
������
1 9
���
 ��
 &!�
�
�
�
 ����
����
��	�
�
�� +�� &���
 �
� %
���������� ���� ��� ����
�
��
 ��������
��
 "�
���
M'��
� 
�$
��
�� ��
	
	 ����
�
� 9��� ���� ��	 �������	� �
$
����
��

"���� %���������� ��� ��� ���

A� ��
 +
������ �
� .��������
�����+�	����
� ��� ��
 �����
	��'�$��� ���
9
��
� $� �;��
�1 ��		 ��	 *����
� $��'��	� �� 
��
 �
��
		���	������
 ���
�������
�� 9
��
�� ��$� �
������
� ��� ��
 �
��
�����	��������

F (x) =
∫ x

−∞
f(t)dt J����7K

�
� �
	����
� �����
�������� f �
���
 ���
 0����,������� �
� �
��
�����	�������� �	� �
��������� ��
 
������

	��
 �
��
�����	��������

Fn(x) =
1
n

n∑
i=1

X(−∞,x](xi),

��� :���������������� X�
��
 %��

��
�$ 
�� Fn �
�
� F �>� n → ∞ �	� �	!������	�� �
����� J	�
�


.��$ �����K� :�	�
	���
�
 ��� ��
 ������	
������
 Fn �� 
��
� �
	�
� *���� x ��


.���������9
������

σ =

√
1
n
Fn(x)(1 − Fn(x)).

0�	� 

�9
��
� ��� (x1, Fn(x1)), ..., (xn, Fn(xn)) ��	 �������	9
��
 �>� ��	
�
��
		���	�����
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εi = λσi = λ

√
1
n
Fn(xi)(1 − Fn(xi)),
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�
��
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Fn(x) =
1
n

n∑
i=1

X(−∞,x](xi) =
1
n

n∑
i=1

X[xi,∞)(x)

���� ��
	
 �	� 0�	����	����� �>� ��	
� ��
�����������

min
u∈V

R(u) = ‖u(x) − Fn(x)‖2
L2 + λ‖Lu(x)‖2

L2 , J�����K
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�
�
�
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� u �
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������
� )�������
�������	�	 {ϕj}∞j=1 ���

u(x) =
∞∑

j=1

αjϕj(x),
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R(u) =
∫

(u(x) − Fn(x))2dx+ λ

∫
(Lu(x))2dx

=
∫ ⎛⎝ ∞∑

j=1

αjϕj(x) − 1
n

n∑
i=1

X[xi,∞)(x)

⎞
⎠2

dx+ λ

∞∑
i=1

∞∑
j=1

αiαj〈Lϕi,Lϕj〉.

��C
�
�������� �� �
� %�
N$�
��
� αk1 Jk = 1, ...,∞K 
����� 3
9
��	

∂R

∂αk
= 2
∫ ⎛⎝ ∞∑

j=1

αjϕj(x) − 1
n

n∑
i=1

X[xi,∞)(x)

⎞
⎠ϕk(x)dx+ 2λ

∞∑
j=1

αj〈Lϕj ,Lϕk〉

= 2
∞∑

j=1

αj〈ϕj , ϕk〉 − 2
n

n∑
i=1

∫
ϕk(x)X[xi,∞)(x)dx+ 2λ

∞∑
j=1

αj〈Lϕj ,Lϕk〉

= 2
∞∑

j=1

αj

(
〈ϕj , ϕk〉 + λ〈Lϕj ,Lϕk〉

)
− 2
n

n∑
i=1

∫ ∞

xi

ϕk(x)dx.

 ��� 
����
� A��������
� �
	����
�� ��	 6�
������		!	�
� Jk = 1, ...,∞K
∞∑

j=1

αj

(
〈ϕj , ϕk〉 + λ〈Lϕj ,Lϕk〉

)
=

1
n

n∑
i=1

∫ ∞

xi

ϕk(x)dx.
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��9
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������ ���
�	�����
� +����$
� ��� �
����
� 
��
�'�� ���I

(M + λC)α = r.

&�
��
� �	� M 9�
�
� ��
 ������������ Mj,k = 〈ϕj , ϕk〉1 j, k = 1, ...,∞
��� C ��
 ��	���
 	
���
D���
 ���������������������� Cj,k = 〈Lϕj ,Lϕk〉 �>�
j, k = 1, ...,∞. �
� �
���� ��� �
� �
���
� .
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�
� ���
� ��� �
	�
�� ��	 �
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rk =
1
n

n∑
i=1

∫ ∞

xi

ϕk(x)dx k = 1, ...,∞.
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�
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f̂(x) =
N∑

i=j

αjϕ
′
j(x).
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∂g(θ)
∂θ

=
∫
φ(x) exp(〈φ(x), θ〉)dx∫

exp(〈φ(x), θ〉dx = E[φ(x)]
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g(θ) = −1
4
θ2
1θ

−1
2 +

1
2

log 2π − 1
2

log(−2θ2).

:� )���
��
� 	���
� 9�� 
��
 *����
�
��������� u1 ��
 
��
 �����
��������
�
� )���

p(x|y) = exp(u(x, y) − g(u, x))

�������
��	�
��� ����� ��� ��� 	
�� 
�
� .��
����� �>� ��
 @��� 
�� u ���
	���'��� 	��� ����� 9�
 �
� 
��
� .������� +0*�0�	��$ ��� 
��
 �
	�
 �
��
��
���� 
���
+�� &���
 �
� �,���
�����������
� ���
� 9�� ��
 0�����
�	�
����� ��������

��
�� �� 
��
 .���
 ���� 
��
� �

���
�
� *����
�
��������� u1 �� ��
 ��	�
�
9
���
 ���	���'�����
� �
����� 9
��
�� .�'�
� 9��� u ���� ��	 -��
��������
������ 
�� ?�	�	��������
� ��	 
��
� )�������
����� V �
9'����
��
 @���	��
�������
�� �>� ��	 �����
�
� 
��
� ���
��
��
 D �
� �
�
�
�
�

u ���� ��� ��� &���
 �
� -��
�������)������� 	���
��
� ��	

L(u,D) =
n∏

i=1

p(yi|xi) =
n∏

i=1

exp(u(xi, yi) − g(u, xi)) = P (D|u). J#����K

��
	
 9��� ��� �
� 
������
�
� &��������� 9
�
� ����� ��
 ����������
��
 -��
�
������ )�������

l(u,D) =
n∑

i=1

(u(xi, yi) − g(u, xi)) J#����K


�	
�$��
?
������
� 9��� ��� 
�� ���������������������0�����1 �
� �
� ��
 @����

	��
�������
�� �>� 
�� u �
� �
�
�
� ���
� D ��,���
�� 9
��
� 	���� �����	�
	
�$��� �	� 
��
 �������� 0�����
 �� ��
 @���	��
�������
�� P (u) ��� �
� 
��

���������������� �� ��
 �
��
����� �
� ���
� 
���
��� &�
� 9��� 	�'�
� ���
�
����
�1 ��		 ��
 �
��
����� �
� �;�����
� )�������
� u ������

��
��� �	��
+�� 	������ ���� ���� 
�� 
��
� ���6�@�����
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 ��� �
� .��$ 
�� ?�!
	 �	� ��
 �
�����
 @���	��
�������
��

P (u|D) =
P (u)P (D|u)

P (D)
,

9��
�

P (D) =
∫
P (u)P (D|u)µ0(du)

��� �

���
�
� +�8 µ0 �	�� 0�	 +�8 ���
���
��
�� ����
� ��
 6�
������I

µ1(A) =

∫
A L(u,D)µ0(du)∫

�X×Y L(u,D)µ0(du)
.

@
�� �� 	�'�
�
� ?
���������
� 
�� �����������6 ��
 �
�
 �	�1 �	� ��	 +�8
µ0 �
�
���� ��	 ���������������61 �
$>����� �
� 
�� +�,���� �
	���� 9���1
�	� ��
� ��� µ1 �
$
����
��
@�� �
	����
� ��� ������ $� �
� .������� +0*��
�����
� ��	 %����
�

����� 
�� +�,���� ��
	
� @���	��
�������
�� P (u|D)1 �
$�
����	9
�	
 
��
 +��
,����	�
��
 �
	 +�8
	 µ1� ��$� 	���� ��� 	� �
�����
 �����	��
 *����
 �
$�
�
����	9
�	
 +�,����	�
��
� �
� �
��
����� 
�� u� ��
 @���	��
�������
��1 ��		
��	 �
	����
 u 	
�� ���
 �
� 	����
� *����
� ��
��1 �	� ���� 	
�� ���8� ��
 )���

�	�1 9�
 ��� 	����
 *����
 D��
�� 5C
�	�������� �'��� 
�� +�,���� 	���� 
��
�
� @��� �
	 +�8
	 µ0 ��� �	 ���� 
������
�1 ��		 P (u|D) +�,����	�
��
�
�� *����
� ���1 ��
 �$��� µ0 	
�� �
����
	 +�8 ���
� ��� ���
� ����� �
9'���
9
��
�� A� ��
	 $� 

�����
��1 �;���
 ��� ����	������	��
������
 +�8
 9�
 ��	
-
�
	��
��8 �
������
�� ��
	
 	��� ��
� ��� �>� 
������ ���
�	�����
 �'��

�
D��
��� �
����� �
	��$
� 9
�
� ��
 �������� @���	��
�������
�� P (u)1 ��	 ����
��
 ����	�
���� @���	��
�������
�� P (u|D) 
��
 �����
 �� �
9;������
� .���
�
A� ��� *����
 ��� ��,����
� �����
 $� D��
�1 ������� ��� 
��
� ����
�
��

�
�
� ?
���C �
� �����
� ���
� 9���
� �� G6&47H ��� G&
�47H 

�����
�
��
��

�����
� �>� 	�
$�
��
 ��
���������
�	�����
 )�������
��'��
 �
D��
��1 ��
 
	
���� 
��;�����
� 
��
 ���
��	��
 -;	��� $� �
	����
� J	�
�
 ���� G?���/HK�
���
� 	����
� ��
 �� �'��	�
� A��
������
� 
���
	�
���
� #����������������

��	
��� �� 
������ ���
�	�����
� )��� ��	 ��� 
��
 %��	����
 ��� �
� �
9;���
����
� �����
� >�
�
���

:� ��	�
���
� �
�����
� �
	 ��	����
��
� -
��
�	 9���
� �� 0���
�
��
� ���

������ ���
�	�����
 �
��
�����
� �
������
�1 ��
 ����� 
��
 �
�
��	��
 �
��
�
����� 
�� u �� �
� 3
9
����
� ���
������
� xi i = 1, ..., n �������
��	�
�� 	���
J	�
�
 GQ04�H1G.

4�HK� ����� ���
�� ��� $9�� ��	 *����
� �
� ��
���������
�
�	�����
� �����
�1 �
����� ��
� ���
� ���� �
��
 
��������
��
 )��� �>�
��	 
��
������
 ��,���� ����	�
����� *����
��
�
� 0�	��$ 9�
 9�� ��� �� )���
��
� �
������
� 9
��
�1 ����� �� ��
 ��������

�
��
����� �
� *����
�
���������
� u ��
 0�����
�1 ��		 	�
 ������

��
���
	���� +�� 9'��� ��	� 
��
� 6��8�*����1 9
���
� ��	 6��8��8 >�
� �
� RX×Y

�
D��
�� �	�� 0��
�����
 ���� ��� ��
	
� *���� ���� ��	 ��
������
� ������	

��
��� 
�� ������

��
���
� ������	
������
� u(x) ���
���
��
�
��
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F�
� ��
 ����	�
����� �
��
����� ���� ��� �� �
� �
�
� �
��
 �
���
�
� 0�	�
	��
� ����
�� ��
	
 	��� �� 0���
�
��
� ���� �
��
 6��8��8
1 �;��
� ��
�1
9�
 ��� 	�'�
� 	
�
� 9���1 ������ �������
��	�
�� 9
��
��

:� 6
�
�	��$ $�� �������� ��� ����	�
����� �
��
����� �
	��$� ��
 -��
�������
)������� L(u,D) 
��
 �����
 �� ���		�	��
� .���
� .�
 �
	�
�� ��	 �
� 
�����
��
� *������ �
� �����
��������
� �� �
� ���
������
� J	�
�
 J#����KK�

���
 �����
��
 ���	�
����� �
� ��
� ����
�>���
� "�
���
� D��
� 	��� �� �
�
0����
� G&
�47H1 ��� �
� ��
 ����
��
� 0�	������
 ��	�
�
��

$���� *��,����� -����

0��� 9
�� �� 6
�
�	��$ $� 
������ ���
�	�����
� +�8
� 
�� 6��8	��
	 @����
	��
�������
��	��8 γ >�
� �
� �X×Y �� ����
�
��
� �
��
 �����
 �
	��$�1 	�
9��� 
	 ���� ����� ��9������	9
�� ��� ������$ �������
��	�
��� ?

�� 9�� ��
�
	
 ���
�
� �;��
�1 �>		
� 9�� 
��
� �
D������	�
�
��� �>� ��	 +�8 ��� 
��


��	��
��
��
 σ�0��
��� �
D��
�
��

���
 ���>�����
 "�������
 ��� �X×Y �	� ��
 ����� ��
 "�������
 ��� � �����
$�
��
 *��������������
� ��
	
 �	� ��
 ��,����
 "�������
1 �>� ��
 ���
 *����
���	9
�����	����������
 �
� )��� u → u(x, y) 	�
��� 	���� �
� �������� �
	
)�������
�����
	 �X×Y �	� ���� ��
 +
��
 ���
� 	�
���
� ���
��
� )���������


φ(u) =
n∑

j=1

cju(xj , yj), J#����K

�>� cj ∈ � ��� xj ∈ X1 yj ∈ Y � +�� �
�;���� ��
	
 )���������
1 �� 
��

σ�0��
��� �>� ��	 @���	��
�������
��	��8 ��� �X×Y ���
�
� $� �;��
�� ��
	


����� 	��� �>� 	�
���
 ���
��
 )���������
 φ ���� �� �
� )���

{u ∈ �X×Y : φ(u) < c},

�>� 
��
 %��	����
 c < ∞� 0�	 *���� ����� ��� ��� 
�� ���6���������6
γ ��� ��
	
� σ�0��
���� ���
� �
�8� 
�� @���	��
�������
��	��8 µ ��������61
����	 µ(A) ��	 .���
��� 
�� µ(K) >�
� ���
 �������
� "
���
��
� K ⊂ A �	��
��		 �
�8� �
� 
��
� 6��8�������+�8 ��		
� 	��� ���
 �
		���
� +
��
� �����
�������
 "
���
��
� �����,���
�
� ��� ��
 0�	9
�����
� ���
� )�������
�
φ(u) 	��� ������

��
���
 ������	
������
��
&�� ��� ��� 
�� u �
�
�
�1 ��		 �
�'8 
��
� 	����
� +�8 γ 

��
��� �	�1 	�

	��� ��
 �����9
�	
� 0�	9
�����
� u(x, y) 
��
 )�����
 
�� ������

��
���
�
������	
������
� ��� u 	���� 
�� 	��
�����
	 ���6�	
�� 1����������� ��
 @
��


��
	 	�
���
� )���������	 φ 	��� ���� ������

��
��� ��� ��9������	9
��

∫
�X×Y

n∑
i=1

ciu(xi, yi)γ(du) =
n∑

i=1

ciū(xi, yi)
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��� ������$∫
�X×Y

n∑
i,j=1

cicj [u(xi, yi) − ū(xi, yi)][u(xj , yj) − ū(xj , yj)]γ(du)

=
n∑

i,j=1

cicjK(xi, yi, xj, yj),

9��
� ū(x, y) �
� +���
�9
�� �
	 ������	

����	 ��� K(x, x′, y, y′) ��
 %�
����
��$�����, �	�1 ��
 ���� ��	 ���� �
$
����
� 9���� ��
	
 �
��
� )���������

�
D��
�
� ��	� �
� *���� γ ��� �������
��	�
�
� ��	 R9���	��
������	�
S u1 ����	
�
��
 ���
� �
�
�
� 	���1 	�9�
 ��
 %�
�����$ $9�	��
� )�������	9
��
� 
�� u
�� 

�	���
�
�
� .�
��
� (x, y)� +�� &���
 ��
	
� )���������
 ���� ��� 6
��
�


���>��
�1 �� �
�
� 
��
 ���
 %���
������ �
� )�������	9
��
 
����
�� ��� ��

����� ���
��
	��� �>� �;�����
 +�,��� 	����
�
� *���� γ �
D��
�� 
��
 .
������

‖u‖H(γ) = sup
φ
{φ(u) : R(φ, φ) ≤ 1}

9��
� ��	 .���
��� >�
� ���
 	�
���
� ���
��
� )���������
 �
� )��� J#����K
�
����
� 9��� ���

R(φ, φ) =
n∑

i,j=1

cicjK(xi, yi, xj , yj)

�	�� ��	 6
��
� ��
	
� .
������ �	� ���� 
�� 	� �
�����
� 4��������������
����

H(γ) = {u : ‖u‖H(γ) <∞}, J#���#K

�
� 
�� &���
������ ��� �
�����$�
�
��
� %
��K �	�� +
�� �
����	 ��$� D��
�
	��� �
�	��
�	9
�	
 �� G?���/H� �	 ���� �
$
��� 9
��
�1 ��		 ��
	
� ���� �
���

��	 ���
� )�������
� u ∈ �X×Y �
	�
��1 ��
 	��� ��	 6�
�$9
�� 
�� )���
�
u1, u2, ... ���

un(x, y) =
n∑

i=1

ci,nK(xi,n, yi,n, x, y)

	���
��
� ��		
�� ���
� 	��� ��
 )���
� ci,n ��� (xi,n, yi,n) 	� $� 9'��
�1 ��		
��
 
��	��
��
��
� )���������
 φn ���

φn(u) =
n∑

i=1

ci,n[u(xi,n, yi,n) − ū(xi,n, yi,n)]

�� L2(γ) ���

���
�
��
0�$��
��
� �	� ���
�1 ��		 �
� 6�
�$9
�� φ̃ �� ����
�
��
� �
�� 	�
���
	

���
��
	 )��������� ��� X ×Y �	�� 0��
�����	 ���� 
� ��	 	�
���
	 ���
��
	 )����
������ ��� �
� &���
������ H(γ) ���
����
� 9
��
�1 9������ ���

φ̃(u) = ‖u‖2
H(γ)


��'��� ��
 +
��
 �
� ��� ��
	
 @
�	
 �
D��
��
� φ̃ �
������
� ���
 	�
���
�
���
��
� )���������
 φ ��� �X×Y �
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����� ���
� 9�� ��� 	�9��� ��	 +�8 γ1 ��	 ���� �
� ���� ��	 �
� 9�� ��	
�
�
 -;	��� �
	����
� 9���
�� B
�$� �>		
� 9�� ���� 
��
 ���9
����
 ?
�������
�� +�,���������
 �
$>����� γ 	�
��
�� ��$� 9
��
� �� �'��	�
� 0�	������ ����
������� @����� ��� ��
 	� �
�����
 �������
���	
� 0�������� �
D��
���

$���� 
������������� .�
������ ��� ���������� -�����

@�� �
������
� ��� ����
�
��
1 


���
�� ��������
��
 )���������
 �
� )���

ψ(u) := θ(φ1(u), ..., φm(u))

9��
� θ ��	 �
� ���� �
� ��
������ ��� ��C
�
�$�
����
� )�������
� ��� ����
����
� "�'�
� >�
� �
� �m JC∞

b (�m)K �	�1 ��� ��
 )���������
 φi ��	 �
�
�������� X∗ 
�� X 	���� ��
	 	��� 	� �
�����
 ������ �=�������	
� �����������1
�
�
� )�W��
� 0��
����� 
�� �
� )���

∂vψ(u) =
m∑

i=1

∂θ

∂φi
(u)φi(v)

�	�� 0� ��
 .�
��
 
�� ψ 9��� 	�'�
� ��
 -��
�������)������� ��	 6�
������
J#����K ��
�
��

��������� ��	�� J-���������	��
 0��
�����K� +�� 	��� 
�� �������8 µ �	�
��C
�
�$�
���� �� �������� v ∈ �X 1 ����	 
�� )��������� βµ

v ∈ L1(µ) 
,�	��
��1
	� ��		 �>� ���
 �����
� $!������	��
� )���������
 ψ∫

X
∂vψ(u)µ(du) = −

∫
X
ψ(u)βµ

v (u)µ(du)

����� ��	 )��������� βµ
v 9��� �������
���	
� 0�������� 
�� µ ���� v �
������

+�� ���� $
��
�1 ��		 �>� 
�� 6��8�������+�8 γ ��� ��9������	9
�� 4

βγ
v (u) = −(v, u)H(γ)

��� γ ��C
�
�$�
���� �>� ���
 u ∈ H(γ) ���� v ∈ H(γ) �	�� +�� (., .)H(γ) 	
�
���
� ��	 $��  ��� ‖.‖H(γ) �
�;���
 .������������ �
$
����
��
)>� 
�� �
��
���
	 L ∈ L1(γ) 	
� µ = L · γ 
�� +�81 	� ��		 L = dµ/dγ ��


������ ����!��0��
����� �	�� 0�	� 
����� 	���

µ(A) =
∫

A
L(u)γ(du).

)���	 L ��C
�
�$�
���� �	�1 ����� ���� ����1 ��		 µ = L ·γ ��C
�
�$�
���� �	� ���
��	 ����������	��
 0��
����� �
	����
��

βµ
v (u) = −(v, u)H(γ) +

∂vL(u)
L(u)

. J#���7K

��������� ��	�
 J.������'�
� *����K� ��� *���� u ∈ �X �
�8� �����������
@���� �
	 +�8
	 µ1 ����	 ��
 ����������	��
 0��
�����

βµ
v (u) = 0

�>� ���
 ��������
� v �	�1 
������ �
�
� µ ��C
�
�$�
���� �	��
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+�� 	�
��1 ��		 ��
	 �C
�	�������� ���� ��
 	������'�
� *����
 �>� 
�� 
������
���
�	�����
	 +�8 µ �������
��	�
��� +�� &���
 �
� ����������	��
� 0��
�����
��� ��� ��� ��	� ��	 *���$�� �
� 	������'�
� *����
 
�� @���	��
�������
��	�
�����
� ��� ����
�
��
 +�8
 µ �
� )��� µ = L · γ >�
�����
�� ���
� �'��� �
�
?
���C �
� ����������	��
� 0��
����� ����� 
�� �
� �,�	�
�$ 
��
� �����
 ���
0�	 �
D������ #���� ��� 6�
������ J#���7K 
����� 	��� �>� 
�� +�8 µ = L · γ ��

����
��
 E������
��	�
���� 
��
	 	������'�
� *����
	 uI

−(v, u)H(γ) +
∂vL(u)
L(u)

= 0, �>� v ∈ H(γ).

5C
�	�������� �	� �
� ��9������	9
�� 
��
	 6��8��8
	 
�� 	������'�
� *�����
A� +�,����	�
��
� 
�� ���
�
� 	������'�
� *����
� ���
�	��
��
� $� �;��
�1
�
�;���� ��� $�	'�$����
 ?
�������
�1 ��
 �� �'��	�
� 0�	������ �
���
� ���
�
�	���� 9
��
�� ��
	 �>��� $�� ?
���C �
� #���������������� ��	
��1 ��� �
�
�
&���
 ��� +�,����	�
��
� 
�� ��
������ ���
�	�����
� +�8
� ���
� �
9�		
�
������		
�$���
� �
	����
� �����

$���" ����

���������� %�����

+�� �
������
� ��� 
�� ����
�
��
	 �������8 µ1 9
���
	 ��� �X×Y �
D��
��
�	�� ���� �	� ��	 ����	����
��
 +�8 µh �
D��
�� ��	

µh(A) = µ(A+ h).

���
� �	� A+ h ��
 +
��
 ���
� )�������
� u+ h ��� u ∈ A� �����	�
	
�$� A
�	� �
		���1 �	� ���� A + h �
		���� )���	 µh ��	���� 	�
��� �� ?
$�� $� µ �	�1

,�	��
�� ���� .��$ ����� 
��
 �
		���
 )������� rh(u)1 	� ��		

µh(A) =
∫

A
rh(u)µ(du).

0�	� �	� ��
 ������ ����!��0��
�����

rh =
dµh

dµ
.

+�� �
$
����
� 
�� +�8 µ ��	 8�������#������ ���
� "���	������ ��� h1 ����	
��
 +�8
 µh ��� µ �
�
�	
���� ��	����	�
���1 ��	� '=��
��
�� 	��� Jµh ≡ µK�
.
� H ��
 +
��
 ���
� )�������
� u ∈ �X×Y 1 �>� ��
 µ =��	����
������ ���
�
"���	������ ��� u �	�1 ��	�I

H := {u : µ ≡ µu}.
5C
�	�������� �	� 0 ∈ H1 ��� �>� 3
�
	 h ∈ H ���� −h ∈ H� @
��
���� ���� ����	
µh1 ≡ µ1 µh1+h2 ≡ µh2 ��� ������ ����!��0��
�����

dµh1+h2

dµh2

(u) = rh1(u+ h2).

+�� �
� %
��
��
�
� �>� ������ ����!��0��
�����
� 
��'�� ��� ����

dµh1+h2

dµ
(u) =

dµh1+h2

dµh2

(u)
dµh2

dµ
(u) = rh1(u+ h2)rh2(u).
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��	
�$� ��� ��� u ����� 01 h1 ����� u ��� h2 ����� h1 	� 
��'�� ���I

ru+h(0) =
dµu+h

dµ
(0) =

dµu+h

dµh
(0)

dµh

dµ
(0) = ru(h)rh(0).

�����	 �
	����
��I

rh(u) =
ru+h(0)
ru(0)

.

����� ���� ��� ��
 )�������
� rh(u) ����� ���
� @
�� �� �
� .�
��
 0 �������
�
��	�
�
�� @�� �
$
����
� ru(0) ��	 ��
 #��������������� ��	
�� �� u�
)���	 H = �X×Y �	�1 ��		 ��
 +
��
 X × Y 
������ 	
�� J	�
�
 G?���/HK� :�

)���
��
� �
��
� 9�� ��1 9�� 	���
� 
�� u ∈ H1 �� �
� µ 
�� +�,���� ����
@�� 	��
� ��$� u+ h �	�  �
��	
�����	
�� ��	 u1 ����	

ru+h(0) ≥ ru(0).

���
 +�,����	�
��
 ru(0) �
��
� 9�� ����� 
�� µ �� 0��
����� �� �
� �'��
D�	�
� @
�� 
��
� &'�D��
��	

��
����� J���� ����� ��� �
�����K�
)>� 
������
 +
��
� X × Y 1 ��
 
��
 @���	��
�������
��	�����
 p(u) > 0 �
�

	��$
�1 ���� �
$
��� 9
��
�1 ��		 ���� ru(0) = p(u)/p(0)� 0�	� �	� 
�� +���	
�� ����
� .���
 �� 
������
� )��� �
���
 ��	 ��� 
��
  ����
���� 
�� +�,��
�������� �
� �����
 ��� ����� 
�� +����9
�� �� �
9;������
� .���
� ��



�����
�
��
��
 �����
 
��
	 6��8��8
	 ��� ��9������	9
�� 0 ���� ��	

ru(0) = exp(−‖u‖2
H )

��� �
�  ��� �
	 E��
����+����������
	 H �
	����
�
� 9
��
��
 �� �;��
� 9�� ��
 ��	��		��� ��� @���	��
�������
��	��8
 µ ��	�
��
�1

��
 '=��
��
�� $� 
��
� 6��8��8 γ 	���� .
� H �
� E��
����+���������� �
	
6��8��8
	 γ ��	 J#���#K� ��
 

�����
�
��
��
 �����
 
����� 	��� ��� ��	

ru(0) =
dµ

dγ
exp(−‖u‖2

H ),

9��
� dµ/dγ 9�
�
� ��
 ������ ����!��0��
����� �	��
@�� ���
� 3
�$� ��	� 
�� %���
���� �>� �;�����
 �,��
�	�
��
� 
��
	 6��8�

	��
� @���	��
�������
��	��8
	 �
��
�
��
�� ��
	
 �
���� ��� 

�����
�
��
��
�
�����
�1 ��
 ��� 
��
� "
���
��
 H ⊂ �

X×Y �
D��
�� 	���� )���	 9�� +�8

���
�1 ��
 '=��
��
�� $� 
��
� 6��8��8 	���1 �'		� 	��� ��
 

�����
�
��
��
�
 �����
 
,���$�� �� 0��'�����
�� 
�� �
� ������ ����!��0��
����� ��� �
�
 ��� �� 
��	��
��
��
� E��
����+���������� ���	�
��
�� ����� ���
� 9��
��
 +;������
�� 
��
 
��������
��
 )��� �>� �
� R9���	��
������	�
�S *���� 
��
�
�
��
����� ���
�
� $� �;��
��
 �� ��		 ��
	
 +
������ 
��	��
��
�� ��� �
� ��,���� ����	�
����� 0�	��$

��� �,���
�����������
� >�
�����
� 9
��
�1 �
� 9
���
� ��	 ����	�
����� +�8
'=��
��
�� $�� 6��8�*���� �	��
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$���$ .�/������ ��� +���������
����
���

A� ��
 "�
���
 ��	 �
� 
���
���
� 0�	������
� ��� ��
 ��,���� ����	�
�����
+
����
 ��9
��
� $� �;��
�1 ������� ��� 
��
 �
�>�
�� �����
 -��
�������
)�������� ��
	
 0�����
���� �� ��
 �
�������'� >�
���'�� 	��� ���� ��� ��

��������������)������� g(u) ��	 6�
������ J#����K�

g(u, x) = log
∫

Y
exp(u(x, y))dy.

��� 9
	
������
� ?
	�����
�� �	� �
� :��
������
�����

u ∈ H →
∫

Y
u(x, y)dy.

@�� �
$
����
� �� )���
��
� ��� (�X×Y )∗γ �
� �������� 
�� �X×Y �
$>��
���� L2(γ)� ?
������� �	� ���1 ��		 ��
	
� :��
������
����� 9��� �
D��
�� �	�1
��� 
�� ��
�
�� 
�� (�X×Y )∗γ �	�� �����	 �����1 ��		 �
� 5�
����� 
�� 	�
���
	
���
��
	 )��������� ��� H(γ) �	��  ��� �
� ���������������� #�� ����� J	�
�

$�?� G0��4�HK 
,�	��
�� ���� 
�� kx ∈ H(γ)1 	� ��		∫

Y
u(x, y)dy = (kx, u)H(γ)

���

kx =
∫

Y
kx,ydy,

9��
� kx,y �
� �
�����$�
�
��
 %
�� �	�� ����� 	���
��
� 9�� ��
 ��������������
)������� ��	

g(u, x) = log((kx, exp(u))H(γ)).

0�	 %����	����� 
�� �
		���
� )�������
� �	� g 	���� �
		��� ��� �>� �
��
���
�
 u ∈ �X×Y γ���	��>�
���� �
D��
��� .
� H(γ) 	�
��� �� C(X × Y )1 �
� ����
�
� 	�
���
� )�������
� ��� X × Y 1 
���
�
��
�� )>� 
�� h ∈ H ��� t ∈ � ����
����I∣∣∣∣dg(u+ th, x)

dt

∣∣∣∣ =
∣∣∣∣
∫
Y exp(u(x, y) + th(x, y))h(x, y)dy∫

X exp(u(x, y) + th(x, y))dy

∣∣∣∣ ≤ ‖h‖∞ ≤ C ‖h‖H(γ)

0�	� �	� g 
��
 ��	���� 	�
���
 )������� �� t� ?
������
� 9�� ��� ��
 -��
�������
)�������

L(u,D) =
n∏

i=1

exp(u(xi, yi) − g(u, xi))

��� �
� �
�
�
�
� ���
������
� D = (x1, y1), ..., (xn, yn)� +�� �
� ���
�	�����
�
� 
�� g �	� L �
$>����� �
	 *��������8
	 γ(du) × dy1 × ... × dyn �
		���
��� ∫

�n

L(u,D)dy1...dyn = 1.

 ��� �
� "��� #�� ?������ �	� L(·,D) �� L1(γ) �>� ��	� ���
 D ��� ��� ����
��
 �
��
�����
 �
� :��
������� 

����	��
�∫

y

∫
�n

L(u,D)γ(du)dy1...dyn =
∫
�n

∫
Y
L(u,D)γ(du)dy1...dyn = 1.

����� �;��
� 9�� ����
��
 *����	����� ���
�
�
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����������� ��	��� "�� γ ���� ���6���������6 ��� �X×Y 9 �� ���� H(γ) ⊂
C(X×Y ) ���� ������� /��������� ��� ��� h ∈ H(γ)) .�����
�� ��� ��� ����������
u → ∫y u(x, y)dy ��� L2(γ) �$� ���� x ∈ X) ���� ���$��� ��� �������
���	
�

0�������� ��� ��6�� µ = L(·,D) · γ

βµ
h = βγ

h +
∂hL(·,D)
L(·,D)

.

��	 ����	�
����� +�8 �	� ��	 �
�����
 +�8 µ1 �
D��
�� �����

µ(A|D) =

∫
A L(u,D)γ(du)∫

�X×Y L(u,D)γ(du)

�>� ���
 �
		���
� +
��
� A ∈ �X×Y � ��
	 �	� ��	� ��� 
��
 	����
��
 �
�	��� �
	
�� 
���
�$�
� 0�	������
	 �
������
�
� +�8
	 µ1 
����	 �����1 ��		 ��
 �
��
�
�
��
�����
� ��
 ��
���
� +�,��� ��� 	������'�
� *����
 ���
��
.
�$
� 9�� ��� ��
 �
����

 ����������
��
 -��
�������)�������

l(u,D) = −
n∑

i=1

(u(xi, yi) − g(u, xi))


��1 	� 
�����
� 9�� ��
 ?
������� �� 
��
� 	������'�
� *����

(h, u)H(γ) + ∂hl(u,D) = 0, �>� ���
 h ∈ H(γ).

�����	 �����1 ��		 
�� +�,��������� 
�� µ(A|D) ��	 )���������

J(u) = ‖u‖2
H + l(u) J#���(K

������
���

$���0 #��&������ ��� +������������

 ����
� 9�� 
��
 
��������
��
 )��� �>� ��	 ��,���� ����	�
����� �
�����
�
���
�
�
� ���
�1 9���
� 9�� ��	 3
�$� ��
 -;	����
�� �
		
� ��$�	
�
�� ��$�
	
�$
� 9�� ��
 ����������
��
 -��
�������)������� l(u,D) ��� ��
 ��������������
)������� g(u, x) �� J#���(K 
�� ��� 
�����
�

J(u) = ‖u‖2
H −

n∑
i=1

(
u(xi, yi) − log

∫
Y

exp(u(x, y))dy)
)
.

�
� ?
9
�	 �
� ����
��
� *����	����� $
��� �>� J(u) ��
 %��

,��'� ��� 
���
�
����
 -;	����
��� ��
 0�		��
 ��� �
�
� ?
9
�	 	����
� ��	 G6&47H�

����������� ��	��� "�� ��� ��	
�������� ���������� φ : H → � �������� ���

����� ���������������� �����!����������� ��� <��� ‖.‖H ���	


φ(u) = log
∫

Y
exp(u(x, y))dy.

���� ��� ��� ����������

J(u) = ‖u‖2
H +

n∑
i=1

φ(u)(xi) −
n∑

i=1

u(xi, yi)

������ ���#�� ��� ������� ��� ����������� �������)
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2� ���) )>� �
��
���
 )�������
� u1, u2 ��� β ∈ (0, 1) ���� �C
�	��������

φ(βu1 + (1 − β)u2) = log
∫

Y
exp(u1(·, y))β(exp(u2(·, y)))1−βdy.

+�� �
� A���
������ 
�� ������ 
����� 	���∫
Y

exp(u1(·, y))β(exp(u2(·, y)))1−βdy

≤
(∫

Y
exp(u1(·, y))dy

)β (∫
Y

exp(u2(·, y))dy
)1−β

.

�� �
� -���������	 ������� 	�
��
�� �	�1 ����� ��
 %��

,��'� 
�� φ

φ(βu1 + (1 − β)u2) ≤ βφ(u1) + (1 − β)φ(u2).

 �� �	� J(u) 	����� ���

,1 9
�� ‖.‖2
H ��	���
 �
D��� �	� J�
� "
��

∑n
i=1 u(xi)

�	� ��� 
��
 ���	����
 �
�	���
����K�
.
� c 
��
 %��	����
1 	���		 ����

|u(x, y)| ≤ c‖u‖H .

@
��
���� 	
�
∫
Y 1dy = C� �����	 �
	����
�
� ��
�
 ��� ���
�
 .������
� �>�

��	 )��������� φ

φ(u)(x) ≥ log
∫

exp(−‖u‖∞)dy ≥ −C‖u‖∞ ≥ C‖u‖H

φ(u)(x) ≤ log
∫

exp(‖u‖∞)dx ≤ C‖u‖∞ ≤ C‖u‖H .

�	 ���� 	���� φ(u)(x) ∈ [−C‖u‖H , C‖u‖H ]� ����� ���� ��� .������
� �>� J
���
�
�

−(Cn)2 ≤ ‖u‖2
H − 2Cn‖u‖H ≤ J(u) ≤ ‖u‖2

H + 2Cn‖u‖H .

��� ��� 	���� �
$
���1 ��		 J 
�� 
���
����
	 
������
	 +������ �
	��$��

&�� ,�����

��� �
� ��
������������

��	 $� ������
�
��
 ��
����������� ��� ��
 6
	����

J(u) = ‖u‖2
H −

n∑
i=1

(
u(xi, yi) − log

∫
Y

exp(u(xi, y))dy
)

→ min .

L������ 9�
 �
� �
������	�
����	�
�$9
��
� 
,�	��
�
� $9
� �����	'�$����
 0��
	'�$
 �� ��
	
	 $� �;	
�I ��� 
��
� ��
 ���	�
����� ��	 -��
������������� 
��
��� �
� ���
������
� $
����
��
� %
����������
�1 ��� $�� ���
�
� ��
 )���
����
���� �
� 6��
�����6�
������
� �>� 
��
 +�����
���� �� 
��
� )�������
��
�����
���'��	� �
�
� 9�� ��� �
� �������������� 0�	��$ ����
�	 %
�����	�
�����


��� 0�	����
8
�� 9
��
� ��
 ��������������� 6��
�����6�
������
� �>� ��	 *���
��
� �
��
�
��
��
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$���� #���������

���

.
� H(γ) �
� &���
������ ��	 �
� ��
 -;	��� u �
	���� 9���� @
��
���� 	
�
K : H(γ)∗ → H(γ) 
��
 ?�3
����� �
	 ��������	 
�� H(γ) ��� 	��� 	
��	�1 ��

���� �
� ���	�
�����		��$ 
�� ��
	$ 
,�	��
��1 ���

φ(v) = (Kφ, v)H(γ), �>� ���
 φ ∈ H(γ)∗ ��� v ∈ H(γ).

�
� 5�
����� K �	� �C
�	�������� �
� �
�����$�
�
��
 %
�� �
	 &���
������
	
��� ��� ���� ���
� 3
�
 )������� v ∈ H(γ) ��� �����X	��
� �
����������� δ
	���
��
� ��	I

v(x, y) = δx,y(v) = (Kδx,y, v)H(γ), �>� (x, y) ∈ X × Y.

+�� �
$
����
� K ��	 �
� ���������������� ������������� 0�	 )���
���� �����	
�
����� ��� ��
 0�		��
I

����������� ����	� "�� u∗ ��� ������� ��� ��	
��������� �����������

J(u) = ‖u‖2
H(γ) + l(u,D)) ���� ����

u∗ +
1
2
K∇l(u∗,D) = 0, J#����K

 ���� K ��� ��������������� ������������ #�� H(γ) ���)

2� ���) ��	 +������ 
�� J(u) ��8 
�� 	������'�
� *���� 	
��1 ��	�

〈∇J(u∗), v〉 = 0 �>� ���
 v ∈ H(γ).

 ��� ���	
�$
� �
� 0��
����� 
�� ‖u‖2
H(γ) ��� �
� �
D������ 
�� K 
����� 	���

〈∇J(u∗), v〉 = 2(u∗, v)H(γ) + (K∇l(u∗,D), v)H(γ)

��� ��
 0�		��
 �	� �
9�
	
�1 �� ��
	 �>� ���
 v ∈ H  ��� �	��

&�
� �	� 9�
�
� ��	 �
�����
 *���$�� ���
9
��
� 9���
�1 �
� �
������	�
�
����	�
�� ����� 
��
� %
�� ��	$���>��
�� ��	 �
�8� ��
 6�����
��	
�����		
��
$���
� 9
��
� 3
�$� ����� @��� �

���
�
� %
����������
� ��� ����� �
��

,���$�� ����� 
��
� �
������	�
����	�
�� 
���
�
�
��

$���� )�������������������

���

A�	
� ��
� �	� ��
 +�����
���� �
	 ���

,
� )���������	 J(u)�

J(u) u∈H−→ min

J(u) = ‖u‖2
H −

n∑
i=1

(
u(xi, yi) − log

∫
Y

exp(u(xi, y))dy
)
. J#����K

@��
� ‖u‖2
H = nλ/2〈u, Tu〉, u ∈ H ��
  ��� �
	 �
�����$�
�
��
� %
���

&���
������
	 H ��� 
��
� ��C
�
�������
����� T �	�� +�� 〈·, ·〉 	
� ���
� ��	



7� %0*:"�- #� +0P:+A+ 0�*5."��:5�: +:" 60AV�*�:5�

L2�.������������ �
$
����
�� +�� �
� 6�'�����	�����
�
� λ �'		� 	��� ��
 �
�
�������'� �
� -;	��� 	�
�
���
.�
��
� 9�� ��� u �
$>����� 
��
� J��
������
�K )�������
�������	�	 {ϕj}∞j=1

�
	 &���
������
	 H ���

u(x, y) =
∞∑

j=1

αjϕj(x, y).

���	
�$
� �� J(u) 
�����

J(u) = (
∞∑

j=1

αjϕj ,
∞∑
l=1

αlϕl)H−
n∑

i=1

⎛
⎝ ∞∑

j=1

αjϕj(xi, yi) − log
∫

exp
( ∞∑

j=1

αjϕj

)
dy

⎞
⎠ .

 ��� ��C
�
�������� �� �
� %�
N$�
��
� αk1 k = 1, ...,∞ 
��'�� ���

∂J(u)
∂αk

=2
∞∑

j=1

αj(ϕk, ϕj)H

−
n∑

i=1

⎛
⎝ ∞∑

j=1

αjϕj(xi, yi) −
∫
ϕk(x, y)

exp(
∑∞

j=1 αjϕj(x, y))∫
exp(
∑∞

j=1 αjϕj(x, y))dy
dy

⎞
⎠ ,

�$9� ��
 ���9
����
 ?
������� (k = 1, ...,∞)

2(ϕk, u)H −
n∑

i=1

(
ϕk(xi, yi) −

∫
ϕk(xi, y)

exp(u(xi, y))∫
exp(u(xi, z))dz

dy

)
!= 0.

@'��� ��� ��� �

���
�
 "
	���������
� v1 	� �
	����
�
� �����	 ��
 6��
�����
6�
������
� �� �
� 	��9���
� )���

a(v, u) +
1
n

n∑
i=1

∫
v(xi, y)

exp(u(xi, y))∫
exp(u(xi, z))dz

dy =
1
n

n∑
i=1

v(xi, yi) ∀v ∈ H.

J#����K
���
� �	� ��
 ?����
������ a �
D��
�� ��	

a(v, u) =
2
n

(v, u)H = λ〈T ′v, T ′u〉, J#����K

��� 
��	��
��
��
� ��C
�
�������
����� T ′� �
� 
�	�
 ���
��
 "
�� 
��	������

��
� .�
�D��
��	�����,1 9�
 
� ���� �
� �
� ?
�������� 
�� �����
��
� ��C
�
��
������
������
� ��������� +�� �
$
����
� ��
	
 ���� ��	 ����������������������1
�� ��� ��� ��
 �
�������'� �
� -;	��� �
	�
�
�� 9���� 0�� �
� �
���
� .
��

���
� 9�� �� ��
	
� "
���������
 ���� �
� <�
���
��� ��
 .��9�
����
�� �
��
-;	
� ����� 
�	� ����� �
� $�	'�$����
� ��������
��
� J+�		
��K"
�� ���
���
:� �
� �
�	�
� ��	�
���
� 0��
��
� 9�
 G&&���H G+���H �����
� �� ��
	
� .�
��
�
 ���
��
 +�		
��
��
 ���� 0��
 �
	����
�
��
� 6�
������		!�
�
 	��� ���
��1 ��
	�
 ��	 �
� +�����
���� �
� =�������	��
� )
��
�����������
 �
�
���
�
�� ��
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&�C���� �	� ���1 ��		 �
�� ��
� 
���
	�
���
� +0*�0�	��$ ����� ��
  �����
���
����'� $�	'�$����
 :���������� 
��M�
8�1 	� ��		 
�� �
		
�
	 -
��

�����
�

��	�
���
A� �
�� F�
�	���������
�� $� 	���C
�1 �>��
� 9�� ���� 
�� ���� &�����������

�
� 
��� .
�

F (u)(x, y) :=
exp(u(x, y))∫
exp(u(y, z))dz

= p(y|x)

��
 �
	����
 @���	��
�������
��	�����
 ���

[v, u] :=
1
n

n∑
i=1

∫
Y
v(xi, y)u(xi, y)dy


�� 9
��
�
	 .������������ ��� V � �
� <�
���
�� 	���
��
� 9�� ��	

q(v) :=
1
n

n∑
i=1

v(xi, yi).

����� 
��
�
� 	��� ��
 6��
�����6�
������
� $�

a(u, v) + [v, F (u)] = q(v), ∀v ∈ H. J#���#K

@�
 ��� �
�
��	 ��
� 	�
��1 
��	�
�� ��
 &����	��9�
����
�� �
�� -;	
� �
�
6��
�����6�
������
� ����� �
� ��������
��
� "
�� [v, F (u)]� ��
	
� 
���'�� ���
�
� ���
�
� 
�� :��
���� >�
� ��
 �,���
������������� �
� *����
�
��������� u1
9
���
	 �� �
� �
�	�
� )'��
� ����� ����!��	�� �;	��� �	�� ���
� �	� 
	 ���9
����
��
	
 6�
������
� ���� �

���
�
� ��	��
��	�
���� ���
��	�� $� �;	
��

2����
�������������.7��$� ��� ��� �+"�+��
�.
:��
��
		��� �	� �� ��
	
� .�
��
 �
� ��	���
����� $9�	��
� �
� ��
� 
���
�
	�
���
� +�,���� ����	�
����� +
����
 ��� ���
�
� ���		�	��
� �
�����
� �
�
-
����
���
� @'��� ��� ��	 �,���
�����������
 
��
  �����

��
����� ���

p(y|x) =
1√

2πσ2
exp
(
−(u(x) − y)2

2σ2

)
,

	� ��� ��
 ����������
��
 -��
�������)������� ��
 6
	����

− log(L(u)) =: l(u) =
n∑

i=1

log(p(yi|xi))

=
n∑

i=1

(
log
(

1√
2πσ2

)
− 1

2σ2
(u(xi) − yi)2

)

= −n
2

log(2πσ2) − 1
2σ2

n∑
i=1

(u(xi) − yi)2.

0�	 ��
����������� �
	����
��

J(u) = ‖u‖2
H +

n

2
log(2πσ2) +

1
2σ2

n∑
i=1

(u(xi) − yi)2.



7� %0*:"�- #� +0P:+A+ 0�*5."��:5�: +:" 60AV�*�:5�

�
������'		��� ��� �� ��
	
� .�
��
 �
� �>� ��
 +�����
���� ���
�

���
� $9
��
�
�1 ���	����
� "
��1 	� ��� ��� 9�
�
� ��
 ���		�	��
 )��� 
��
� �
�������
	�
���� ����  ������"1 9�
 	�
 ���� �
� �����
��� "������ ��
� ������������
��������� ����� ��������I

J ′(u) =
1

2σ2

n∑
i=1

(u(xi) − yi)2 + ‖u‖2
H .

��
	 $
��� 9�
 �'����� �
� +�,���� ����	�
����� 0�	��$ �	�� :	� ��
 �
	����

�����
 ������1 	� 
��	�
�� 
�� +�����
����	�����
� ��� =�������	��
� )
��
��
���������� ��� 6�'�����	�
�� ‖u‖2

H 1 9��
� ��
 ������$ σ
2 ��
 ����
 �
	 �
���

����	�
����	�����
�
�	 >�
�������

$���� %���������� ��� ��� ��� �.-	�������

?�	�
� 9���
� 6��
�����6�
������
� ��� %
�����	�
����� �>� 
�� ����
�
��
	
-
�������
� ����
	�
����  �� 9
��
� ��
	
 �>� �
� .�
$������� �
� �����
	��'��
$��� �
������
��

6����
���������

��	 ��
����������� J ��� �>� 
�� �����
	��'�$���	�����
� ��
 6
	����

J(u) = ‖u‖2
H + n log

∫
exp(u(x))dx −

n∑
i=1

u(xi) J#���7K

��� ��� 
��'�� 	���� �
� 6����
��
� �
� ����������
��
� -��
�������)�������
��	

∇l(u,D) = −
n∑

i=1

δxi +
n
∫
X exp(u(x))δxdx∫
X exp(u(x))dx

.

��
 $� �;	
��
� 6�
������
� 	��� �
�����

u(x) +
n

2

∫
X exp(u(y))k(x, y)dy∫

X exp(u(y))dy
=

1
2

n∑
i=1

k(xi, x)

�>� 
��
� %
�� k� ��
	
 ��������
��
� )�
�����	��
� :��
������
������
� �
�
$9
��
� 0��1 	��� ��� ��� 
��
� �

���
�
� ���
��	��
� �
�����
� $� �;	
��
���
� F�
������ �;�����
� -;	���	

�����
� ���� ��	 ?��� G&��/�H�
0��
�����
 ���� 
	 9�
�
��� ��
 ���	�
����� �
� -;	��� �� 
��
� )�������
��

�����

8��$�� ����
���
���������

 ��� +�����
���� 
�� J#���7K �
	����
�
� �� �
� 	��9���
� )��� ��
 6��
�����
6�
������
�

a(ϕj , u) +

∫
X ϕj(x) exp(u(x))dx∫

X exp(u(z))dz
=

1
n

n∑
i=1

ϕj(xi) J#���(K



#��� +: :+:��A 6 ��. �:�-)A %":5 0-. 7#

��� �
�����
� ?����
������ a(v, u) = λ〈Tv, Tu〉 �>� 
��
 )�������
�������	�	
{ϕj}∞j=1�
��
 &�����������
� ����
� ���

F (u)(x) :=
exp(u(x))dx∫
exp(u(z))dz

���

q(v) :=
1
n

n∑
i=1

v(xi).

0�	� �;��
� ��
 6�
������
� �� 

��>�$�
� )��� �
	����
�
� 9
��
� ��	

a(u, v) + 〈v, F (u)〉 = q(v), ∀v ∈ H. J#���/K

���
� �	� 9�
�
� ��� 〈·, ·〉 ��	 L2�.������������ �
$
����
��

���$���� �

:�	�
	��� ���
� 9���
� $9
� 

�	���
�
�
 ���	�
�����
� �>� ��	 +�,�������
��	�
�������
�����
� ��� 6��8�*���� $�� �����
	��'�$��� �
$
����
:� 
�	�
� )��� 9��

u(x) +
n

2

∫
X k(x, y) exp(u(y))dy∫

X exp(u(y))dy
=

1
2

n∑
i=1

k(xi, x) J#����K

�>� %
����������
� k $� �;	
�� ?
�� ���
�
� 0�	��$ 
��	�
�
� �� �
� 	��9���
�
)��� ��
 6��
�����6�
������
� �>� 
��
 )�������
�������	�	 {ϕi}N

i=1I

a(ϕj , u) +

∫
X ϕj(x) exp(u(x))dx∫

X exp(u(z))dz
=

1
n

n∑
i=1

ϕj(xi) J#����4K

��� 
��
� ?����
������ a(·, ·)�
��
 )���
 �	� ���1 �>� 9
���
� �
� �
��
� 0�	'�$
 ��� 	��� 
��	��
��
�� ?
�

�
��
� 0�	'�$
� 	��� :��
����
 $� �;	
�1 �>� ��
 
	 �
��
 
,���$��
 ����!��	��

-;	��� ����� :�	��
�� ��		 �� �
��
� )'��
� $�� :��
������� 
�� ���
��	��
	
�
�����
� 

�9
��
� 9
��
�� �
	 9
��
�
� 	��� �
��
	 ��������
��
 6�
������
�
�� u1 	� ��		 
��
 ���
��
 -;	��� ����� �;����� �	� ��� 
�� ��
����

	 �
�����
�


�9
��
� 9
��
� ��		� ������ ���� ��� 3
���� ��
 >�����
� A��
�	���
�

$9�	��
� %
��

�����
� ��� )�������
�����

�����
� �
	�	�
��
��
��� ����
� ����
�� �
	 ���
���	�
��
� �
�����
�	 �	�1 ��		 ��
	
	 ���� @��� 
��

�
	 %
��
	 ��
 
,���
 -;	��� �
	����� ��� ����� 
�	� ���� ��	��
��	�
�� 9
��
�
��		� ���>� �	� ��
 
��	�
�
��
 +����, ���
�����	 �� �
� �
�
� 
��� �
	
�$� ���
�
� 0��9��� $�� -;	��� �	� 
�� �
� 5������ O(n3)� �	 �	� 3
���� �;����� ��
	


�9�	 $� 

��
		
��1 ���
� ��� ��
 %
��
 ��� �����,�����
 ���	�
���1 9������
3
���� ��	 0����
�� �
� 
,���
� -;	��� 9�
�
� ���
	��9'��� 9���� "���$�
�
�	� ��	 �
�����
� 	���� �>� ���8
 ���
��
��
� ����� �

���
�1 �� ��
 -;	���
�
	 6�
������		!	�
�	 ��� �
� n× n %
�������, $� 
�
� �
��
�$
�� �
�;�����
��	 ����
���	�
��
 �
�����
� ����
�
� 	����
�� ��� ���
�� ��� �
� 0�$��� ��

���
������
�� ���	��
��
�� �>� ��
 %����
,��'� �	� ��
� ��
 0�M;	��� �
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�9
��
�
� 6���
�	 �$9� ��	 ��	��
��	�
����	�


� �� �
� 3
9
����
� ���
�	����
)>� 
��
� d����
�	�����
� ���
����� 
����� 	��� �
����� 
��
 %����
,��'�

�� O(Nd)1 ����	 �� 3
�
� ���
�	��� 
�� '=����	����
	 
���
	 6���
� 

�9
��
�
9���� .���� �'��� 
	 
�� �
��'����	 
�� n3 $� Nd ��1 �>� 9
���
 �������
 ���
	��� 
��	��
��
� 	����
� &�� ��� 
��
 �'8�� ���8
 0�$��� 
�� ���
������
�
�� ���
� ���
�	���
� 
����
�
�1 �	� ��
 %
��
������
 ��
 �
		
�
 @���� :	� ��

���
�	��� ���
��� ��� ��� ��� 	
�� 
�
�
 ���
������
1 	����
 ��� 	��� �>�
��
 -;	��� �� ��	��
��	�
��
� )�������
����� 
��	��
��
��
+�� &���
 �>��
� 6���
�1 9�
 	�
 �� %����
� 7�� 
���
	�
��� 9
��
�1 �'		� 	���

��
	
	 �
��'����	 3
���� $� 6��	�
� �
� 6���
��;	��� 

�	���
�
�� ��
	
 ���
���� ��� ���� 
��
 %����
,��'� 
�� O(N · log(N)(d−1))� )���	 ��
 -;	��� �
�
�>�
�� ����� �	�1 
��
���� ��
 �>������
��-;	��� ���
� 
��
 6
������
�� 
��
O(N−2 · log(N)d−1) �� �
���
��� $� O(N−2) �>� 
�� 
���
	 6���
��
�� ��� �� �
� �
�	�
� 0�9
�����
� ���� �

���
�
� ���

����
����� ��


���
�	��� �
	 ���
�����
	 ��� 
��
 ���
���
 0�$��� �� ���
�	���
� �
���
$�
�
� ���� J	�
�
 GE���(HK1 ���$
����
�
� 9�� ��	 ��
� �� )���
��
� ��� 
��

��	��
��	�
���� ��� �

���
�
� ?�	
� 
��
	 )�������
�����	� 6
���
� 9
��
�
9�� ��
 	� �
�����
 ��������������	
��� �>� �>��
 6���
� 

�9
��
�� +�� �	�
����� �� �
� -��
 ��� 	
�� ���8
�1 ���
��� �������
�	�����
� ���
�	'�$
� $�
���
��
��
:� ����
��
� %����
� 	�
��
� 9�� �;�����
 ��
����

 -;	���	9
�
 
�� ��� �
�
�

��� ��
  �������
����'� �
����
�� �����



$ ���%	������	��� ��� &'����

A� �
� �� 
���
���
� %����
� �
��
�
��
�
� 0�	��$ �;	
� $� �;��
�1 ��		 ���
	��� $��'��	� 6
����
� >�
� 
�� �

���
�
	 ��
����

	 �
�����
� $�� �'�
����	�
9
�	
� -;	��� ����
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a(u, v) + 〈v, F (u)〉 = q(v), ∀v ∈ H.

���
� ��
�� �C
�	�������� ��
 .��9�
����
�� �
�� -;	
� ��
	
� 6�
������
� ��
�
� ��������
��
� "
��

〈v, F (u)〉 =
∫
v(x) exp(u(x))dx∫

exp(u(z))dz
. J7����K
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��1 �	� 
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�	�
� 0�	��$ 
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������	�
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���������
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��
��
 �� �
� ������
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���
	
�$� ��� ��� ��
 �
���
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��
 �
������� ��	 
��	�
�
��

6�
������		!	�
� �	� 	���� ��� ���� ���
�� �� �
� �
�
� :�
��
��
� ��� ���� ���
�
� ��� �

���
�
� �
�����
� �
�;	� 9
��
�� ��
 6�
������
� ����
� �
�����
�� 3
�
� :�
������ Jk = 1, ..., NK

N∑
j=1

ui+1
j a(ϕk, ϕj) =

1
n

n∑
i=1

ϕk(xi) −
∫
ϕk(x)

exp(
∑N

j=1 u
i
jϕj(x))∫

exp(
∑N

j=1 u
i
jϕj(z))dz

dx,

9��
� ui
j �
� j��
 %�
N$�
�� �
� ?�	�	���	�
����� �
� i��
� :�
��
��
� u

i �	�� :�
+����,���� �
	����
�
� ����
� ��	 �� 3
�
� :�
������ $� �;	
��
 6�
�����		!	�
�I

Aui+1 = q − Φ(ui)

7(
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��� 	� �
�����
� �
������	�
����	�����, Ai,j = a(ϕi, ϕj) ��� +�		
�

����
Φ(u)k = 〈ϕk, F (u)〉� ���
� �
$
����
� u ��� �
� %�
N$�
��
�

���� �
� )����
���� u �
$>����� 
��
� �

���
�
� )�������
�������	�	 {ϕj}N

j=1�  ��� @���

��
	 .����

����	 u0 
����� 	��� ��
 3
9
��	 �'��	�
 :�
��
��
 ��	

ui+1 = ui + ωA−1(q −Φ(ui)) J7����K

��� �'������	�����
�
� ω > 0� ��
 :�
������ 9��� ���
�����
�1 ����	 ��	 �
�
	����� ri = Aui − q + Φ(ui) ��
��
� ��	 
��
 
���
�
�
�
 "��
���$ �	� ��
�

��
 ��,����
 0�$��� 
�� :�
������
� 
��
���� 9���� &�
� �;	� ��� ��	� �� 3
�
�
:�
������ 
�� ���
��
	 6�
������		!�
�1 9��
� ��
 �
���
 .
��
 3
9
��	 ����� ��

���
 :�
��
��
 �
� ��������
��
� "
�� �
������
�� +�� �
� �'������	�����
�
�
ω �'		� 	��� 
��
 %��

��
�$ �
	 �
�����
�	 
�$9���
�� :� 0���������	 � �	� ��	
��
� 
���
	�����
�
 �
�����
� ���� ��� ����
	�
����

������� I ���
������
 {xi}n
i=1 ?�	�	��������
� {ϕj}N

j=1

�������� I �����
�������� f̂
�
������	�
����	�����, Ai,j = a(ϕi, ϕj) ���	�
��
� O
)
	�
� 0��
�� �
� �
���
� .
��
 q ���	�
��
� O
@'��
 .����

���� u0 = 0O
.
�$
 �'������	�����
�
� ω > 01 "��
���$ ε ��� imaxO
i = 0; r = ‖Au0 − q + Φ(u0)‖O
����� r ≥ ε & i ≤ imax  �

i = i+ 1O
b = q − Φ(ui+1)O
-;	
 Aui = b ⇒ uiO
ui = ui−1 + ωui O
r = ‖Aui − q + Φ(ui)‖O

�� 

f̂ = F (ui)O
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������� 
 I �7�������� '8��������������

0���� +������������ ��� ����������
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��
 ��
��
��	��
 0���!	
 �
� %��

��
�$
��
�	����� �������� �
	 �����
�
,
� ��	���
�	��
�	 �
� *����
�
� ��� �
� 6
	���� �
	 ��������
��
� "
��	
����� ���
�� �;����� �	�1 �
	���'��
� 9�� ��	 ��� 
,�
���
��
��
 A��
�	������
�
�� ���
� ��� 	��� �
���	�
	�
���1 ��		 ��	 �
�����
� 	
�� 	���� �
�'���� 9
��
�
� ��		 Jω ≤ 0.1K �� >�
������ 
��
 %��

��
�$ $� 
��
���
�� +�� 
��
�
�
����
� ω 
�$9���� ��� ��
	
 $9��1 ��
� ��
 :�
��
��
 �'�
�� 	��� ��� 	
��
����	�� �
� -;	����
)>� ��
 ����
��
� ���
���		
 9���
 
�� ���
�	��$ ��	 �44 *����
� ���� 
��

�
� ��	 $9
�  �����

��
�����
� �
	�
�
��
� �����
�������� 
�$
���� 6
9'���
9���
 ��
� µ1 = 4, µ2 = 7 ��� σ1 = 1, σ2 = 1/4� 0�	����
8
�� 9���
� ��
 
��
$
���
� ���
� ��� ��	 ����
��	���
�
��� [0, 1] ����	�����
��� 6
���
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	����
�
�
� �	� ��
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����
�1 9'��
�� ��
 �
���
 6��D� �
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���� �� �
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��� ��$� 9��� 
��
 =�������	��

0����,������� �� ��	 ��	��>������
 ��
����������� J(u) �
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 ���� +��
����
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�� ���
��
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� �
	����
��� :� )���
��
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�� 
�� +������ >�
� ���
 u ∈ H �
	 )���������	

J(u) = ‖u‖2
H + n log

∫
Y

exp(u(x))dx −
n∑

i=1

u(xi).

@�� ����
� ��� ������ $� 
��
�  
9�����
�����
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��
 ����� =�������	��
  '�
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���� �� J 1 	���		 ���� +�����
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��
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������		!	�
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� $� �����,���
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��
1 ��������
��
 "
�� �
	 )���������	 J(u) ��� ��
 6
�
	����

log
∫

exp(u(x))dx.

A� ��
	
� �
		
� �������
� $� �;��
�1 ���$
� 9�� ��
 �
��
�
��9�������
�
�
	 -���������	 ��� �
� �,���
������������� ��� 	���
��
� ���� �
� $9
��
�
5������ ��I

exp(a+ b) = exp(a)(1 + b+
1
2
b2 +O(b3))

log(a+ b) = log(a) +
b

a
− 1

2
b2

a2
+O(

b3

a3
).

����� 
����� 	��� �>� 3
�
	 u ∈ H ��� ��
��
 h ∈ H

log
∫

exp(u+ h)(x)dx = log
∫

exp(u(x))(1 + h(x) +
1
2
h2(x))dx +O(h3)

��� �� �'��	�
� .������1 9��
� ��	 0����
�� x �
� F�
�	���������
�� ����
�
����� ���
�
�
� �	�

log
∫

exp(u+ h)dx = log
∫

exp(u)dx+
∫
h exp(u)dx∫
exp(u)dx

+
1
2

∫
h2 exp(u)dx∫
exp(u)dx

−1
2

(∫
h exp(u)dx∫
exp(u)dx

)2

+O(h3).
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 �� 5������ h3 9
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� 9��
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���
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 )��������� �����
�����,���
��� �
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��
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��
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�
��	��
��
�� 
�� �
� 5������ O(h3)�

0���� %�� 
���
 1����������� 2��
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�� +������ 
��

Mu(h) :=
1
n

(J(u+ h) − J(u) −O(h3)).

��
 �� h ���	����
 �
�	���
���� J(u) 

�'��
�� ���
� ��
 -��
 �
	 +������	
�����1 �>��� ��
� $� 
��
� >�
�	��������
�
� ���	�
������
+�� ����
� 0����,�������
� 	���
��
� 9�� ��	
� �
�
	 ��
����������� ��	

Mu(h) =
1
n

(‖u+ h‖2
H − ‖u‖2

H ) +
∫
h exp(u)dx∫
exp(u)dx

+
1
2

∫
h2 exp(u)dx∫
exp(u)dx

− 1
2

(∫
h exp(u)dx∫
exp(u)dx

)2

− 1
n

(
n∑

i=1

(u+ h)(xi) −
n∑

i=1

u(xi))

=
1
n

(‖u‖2
H + 2(u, h)H ) + 〈h, F (u)〉 +

1
2
[h2, F (u)]

− 1
2
〈h, F (u)〉2 − 1

n

n∑
i=1

h(xi)

=
1
2
a(h, h) + a(u, h) + 〈h, F (u)〉 +

1
2
〈h2, F (u)〉 − 1

2
〈h, F (u)〉2 − q(h).
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�	��9���
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� 
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� 0��
�
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� 9�� h �
$>����� 
��
� )�������
�������	�	 {ϕj}N

j=1 
��
	

������
� "
������
	 HN ⊂ H ���I

Mu(h) =
1
2
a(
∑

j

αjϕj ,
∑

j

αjϕj) + a(u,
∑

j

αjϕj) + 〈
∑

j

αjϕj, F (u)〉

+
1
2
〈(
∑

j

αjϕj)2, F (u)〉 − 1
2
〈
∑

j

αjϕj, F (u)〉2 − q(
∑

j

αjϕj).

��C
�
�������� �� �
� %�
N$�
��
� αk1 k = 1, ..., N 
�����I

∂Mu(h)
∂αk

=a(ϕk,
∑

j

αjϕj) + a(u, ϕk) + 〈ϕk, F (u)〉 + 〈
∑

j

αjϕjϕk, F (u)〉

− 〈
∑

j

αjϕj , F (u)〉〈ϕk , F (u)〉 − q(ϕk)
!= 0.

��
	 �	� '=��
��
�� $�I∑
j

αj

(
a(ϕk, ϕj) + 〈ϕjϕk, F (u)〉 − 〈ϕj , F (u)〉〈ϕk , F (u)〉

)
= q(ϕk) − 〈ϕk, F (u)〉 − a(u, ϕk).

:� ������
�  ������� $�� 
���
���
� %����
� 
�����
� 9�� �>� ���
 "
	���������
�
v ∈ H ��
 6��
�����6�
������
�I

a(v, h) + 〈vh, F (u)〉 − 〈v, F (u)〉〈h, F (u)〉 = q(v) − 〈v, F (u)〉 − a(u, v). J7����K
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������
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� 6�
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� 	��� �� +����,	���
��9
�	
 ���	�
��
� ��	

(A + Bu − ΦuΦt
u) · α = q − Φu −Au. J7����K

���
� �	� A ��
 =�������	��
1 ��	���
 �
D���
 ����������������������

(A)j,k = a(ϕj , ϕk) = λ〈Tϕj , Tϕk〉, j, k = 1, ..., N

��� ��C
�
�������
����� T � Bu �	� 
�
�����	 =�������	�� ��� �����'�
�

{(B)u}j,k = 〈ϕjϕk, F (u)〉, j, k = 1, ..., N.

������#����� ��� �����#����� 	��� ������ $�� 
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��������� 9	@� ��� 1�+��� ��� �������������� #����������
��� ��� :����� V3 ��� ���$
���������+���� W0,0 (
��� �����) ��� W3,3 (����� ������)

9��
� ei �
� i��
 ����
��	

���� �	�� �
� ����	�'�����
�� ����
� 	
�$
� 9�� Vli =
∅1 ����	 li = −1 �>� 
�� i� +�� ��
	
� ��C
�
�$
��'��
� �'		� 	��� �
� ��	��
�

���� VN ��	 ���
��
 .���


VN =
N⊕

l1=0

· · ·
N⊕

ld=0

Wl =
⊕

|l|∞≤N

Wl

	���
��
�1 9��
� |l|∞ := max1≤i≤d li ��
 ��	��
�
 L∞� ��� �	�� ��
 �
������
R≤S �	� ������
��
�9
�	
 $� 

�	�
�
��
0����� ��		
� 	��� ��
 �'��
 Vl ��	 ���
��
 .���
 �
� 
��	��
��
��
� ����

�
�
�$
��'��
 	���
��
�I

Vl =
l1⊕

t1=0

· · ·
ld⊕

td=0

Wl =
⊕
t≤l

Wt.
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� :��
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��


Bl :=

{
j ∈ �d

∣∣∣∣∣ ji = 1, ..., 2li − 1, ji ���
���
, i = 1, ..., d1 ����	 li > 0

ji = 0, 2li , i = 1, ..., d1 ����	 li = 0

}

�;��
� 9�� ��� Wl 	���
��
� ��	I

Wl = 	���{φlj, j ∈ Bl}.
.���� �	� ��
 )�����
 
�� ?�	�	��������
�

{φlj, j ∈ Bl}N
l=0

�
���
 
��
 ��
������	��
 ?�	�	 
�� VN � &�
��
� 9��� ��� &���
 
��
	 "
�	������
����
	 �
� 
�����
�	�����
 )��� ��� �
� d����
�	�����
� )��� 

�����
�
��
���
���
 9������
 ���
�	����� �
� ��
������	��
� ?�	�	���	�
����� �	�1 ��		 ��
 "�'�
�
� �
� ?�	�	��������
� ��	3���� 	���� )>� �
� ���
��
�1 
�����
�	�����
� )���
�	� �� 0�������� 7�7 
�� ?
�	��
� �
�
�
�� ��� �
���	����������� �
	 ���
�
	�
	���
�
� 2����
�	�����
� )���
	 	��� �� 0�������� 7�( ��
 "�'�
� �
� 
��$
��
�
?�	�	��������
� �
� ��C
�
�$
��'��
Wl ���
�
�
�� .�
��
� �� �
�
� ��
 3
9
��
���
� ���	�����
� ?�	�	��������
� �
� @
�� 1 ���
�1 	��� ��	 *����
 �����
���
 ���� ��� ���
 ��
	
 *����
 $�	���
�1 	� 
��'�� ��� 9�
�
� 
�� '=����	����
�
	1 
���
	 6���
��
+�� ��
	
� ��
������	��
� ?�	�	 �'		� 	��� 3
�
 )������� f ∈ VN 	���
��
� ��	

f(x) =
∑

|l|∞≤N

∑
l∈Bl

αljφlj(x)

��� %�
N$�
��
� αlj ∈ �� �� 	��� �
� ���� VN ��	 ���
��
 .���
 �
� ��C
�
��
$
��'��
 	���
��
� �'		�1 ���� 3
�
	 f ∈ VN ���� ��	 .���
 �
� "
���;	���
�
fl ∈Wl �
	����
�
� 9
��
�I

f =
∑

|l|∞≤N

fl.

?�	�
� �	� ��
 0�$��� �
�;����
� ?�	�	��������
� �� �
���
��� $�� �����
�
?�	�	���	�
����� ��

�'��
��� .�9��� �� �����
�1 ��	 ���� �� ��
������	��
� ����
	�
����� 	��� (2N +1) ?�	�	��������
� �;���1 �� 
��
 )������� f ��	 VN ���$��
	�
��
�� �
� 0��9��� 	�
��� 
,���
���
�� ��� �
� ��	��
��	�
����	�


� ��� �
�
���
�	��� ���

0���� %5��� *����� ��� ��� #������������������

��
 :�

 �	� ��� ?�	�	��������
� �
� ��
������	��
� ���	�
�����1 9
���
 ��� �
�
����
� ���M�		 ��� ��
 6
	����;	��� ���
�1 $�� �
��$�
���� �
	 0��9���
	
9
�$���		
�� )>� �
� $9
����
�	�����
� )��� $
��� ������ �� G�
���H �
� ���
	���
����� $9�	��
� �
� 6�;8
 �
	 "�'�
�	 
��
� ��
������	��
� ?�	�	��������
��� �
		
� 0��
�� �� �
� :��
��������� 
��
� )��������
�	 ���� �
$
��� 9
��
�1 ��		 ���
� �
9�		
� �����		
�$���
� �� ��
 6�����
��

�
� $� ���
�����
�
��
� )�������1 �
� 0��
�� 
��
� ��
������	��
� ?�	�	��������
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�� �
� 0����,������� ����� ��
 6�;8
 �
	 "�'�
�	 ��
	
� ?�	�	�������� ����
��
� �
	���'��� �	�� )>� 
��
 �
������
��
�
 0���!	
 	
� ��� G?����H 

�9�
	
��
���� 9��� ���� �
$
���1 ��		 ��
 $� �����,���
�
��
� )�������
� ��	 �
� 	�
�
�����
� "�����#���� ��� ������������� �����	
��� �����
��� H2

mix 	����
�
�>		
�� ��
 $��
�;���
  ��� �	� �
D��
�� ��	

‖f‖H2
mix

=
∑

0≤k≤2

∣∣∣∣∣∂
|k|1

∂xk
f

∣∣∣∣∣
2

2

.

��
	
 �'��
 9
�	
� ������ $�� ��	��
�
� ���� VN 
��
 "
�	���������	�����
��� ���� ��	 �
�8� 	�
 ��		
� 	��� ��	 "
�	��������� �
� 
�����
�	�����
� .����
�

�'��
 H2 	���
��
��
0�	 .����		����
���� ��	 ��
	
� )
	�	�
�����
� 9
��
� �� G�
���H ��
 	� �
�

�����
� �$���� ������ �
D��
��1 �� �
�
� ��
 ��
������	��
� ?�	�	��������
�
��� ��
��
� "�'�
� ��� 	���� ��
��
� ?
����� $�� )�������	���	�
����� �����
�
�� $�� ��	��
�
� 0�	��$���� �
�;�
�� :� ��
������	��
� ���	�
����� 
��
����
��� ��
	1 ���
� ��
 ��	��
�
 +�,����	���� | · |∞ ����� ��
 ��	��
�
 L1� ���
| · |1 
�	
�$� 9���� �
� �>������
����� 9��� ����� �
D��
�� ��	

V dg
N =

⊕
|l|1≤N

Wl, J7����K

9�	 
�� ��	��
�
� "
������ 
�� VN �	��
:� 0�������� 7�( 	��� ��
 9
�����
��
� ?�	�	��������
� ���� 
���
$
����
��

��	 .��
�� 9��� �������� �
	�����
� �� �
� ��������
� ���
	������
�� )>� �
�
0��9��� �
� �
� ���
��	��
� ?
�������� �
�
��
� ��
	1 ��		 	���� O(2Nd) ?��
	�	��������
� ��� ���� O(Nd−12N ) 

�9
��
� 9
��
�� �
� 0��9��� 9��� �����
	��	���$�
�� �
��$�
��� )>� :��
���������	�����
�
 ��� 0����,�������	�����
�
�
1 ��
 
�� 
������	��
� �����
��
� ��C
�
�������
������
� $9
��
� 5������ �
��
�>��
�1 9��� �
�	��
�	9
�	
 �� G6.���H �
$
���1 ��		 ��
 �>������
��;	��� fdg

N


��
� �
��
��
����	��
�
 N ���
$� ��
 ��
���
 6
������
�� ��
�
�� 9�
 ��
 -;	���
fN ��� �
� 
���
� 6���
�� �	 ����

‖f − fdg
N ‖2 = O(h2

N log(h−1
N )(d−1))

��� 
��
� �>��
� 6���
� ��� hN = 2−N �� 6
�
�	��$ $�

‖f − fN‖2 = O(h2
N )

��� �
� 
���
� 6���
�� ���
� ��� ��
 �>������
��;	��� 
��
 �;�
�
 6�����
��	�

����		
�$��� $� 
��>��
�� �	 ��		 fdg

N ∈ H2
mix �� 6
�
�	��$ $� fN ∈ H2 
��>���

	
��� ���	��
��
��
 0�		��
� 
,�	��
�
� 
�
�����	 �>� ��
 +�,����	�����

��
 	� �
�����
 ��������������	
��� �	� 
�� �
�����
�1 9
���
	 ��� 
��
�
.
=�
�$ 
�� ���	�����
�1 �� 3
�
� %��������
��������� '=����	����
� 6���
��
�
�'8 �
� ������������������ ��
 -;	��� ��� �
� �>��
� 6���
� �
�
���
��
6
���
� �
������
� ��� ��
 .
=�
�$ 
�� Ωl ���

d∑
i=1

li = N − q, , q = 0, ..., d − 1, li ≥ 0.
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V4,1

⊕

V3,2

⊕

V2,3

⊕

V1,4

V3,1

�

V2,2

�

V1,3

� V
(1)
4

=

��������� 9	2� ��� ��� ��� !
��������
��������� ���0������� ,����� ��� ��� ��������$
����� �?��� ,����� ��� '���� *	

��
 "
���;	���
� fl ��� ��
	
� "
���'��
� 9
��
� ��� &���
 �
� %���������
��	����
� 9�
 ����� $�� �>������
������������	�;	��� fKT

N �������
��I

fKT
N (x) =

d−1∑
q=0

(−1)q
(
d− 1
q

) ∑
|l|1=N−q

fl(x). J7����K

��
 �
	����
�
��
 )������� fKT
N �
�� �� ��
� �
D��
��
� �>������
������ V DG

N �
)>� �
� )��� �
� :��
��������� 9��� �� G6.���H �
$
���1 ��		 �
� 	� 
�����
�

:��
������� ��� �
� :��
�������
� fDG

N >�
�
��	������ 0��
�����	 �	� ��
	 �����
�
� ���
� 0�9
�����
� �������
��� ��
�����	 �� G6.���H 9��� �
$
���1 ��		 �
�
�
� ���
��	��
� ?
�������� 
�� ��C
�
�������
������
� ��
 ��� �
� %�������
����	�
����� 
�$�
��
 -;	��� $9�� ����� ��� �
� 6��
�����-;	��� �� �>������
�
����� >�
�
��	�����1 �
� )
��
� ��
� �� �
� �
�
� 
�� �
� ��
���
� 5������
�	�� �
������
��
�
 0�	�>�����
� $� �
� "�
�� D��
� 	��� �� G?6����H ���
�
� ���� ���
�
�
�
� �
�
�
�$
��
:� ��
	
� 0��
�� 9��� ��� 
��
� �
���� ���
9���
��
� )��� �
� �>��
� 6���

�
� �
���
��
�1 �
� �
�
� ��
 	����
 �����������$ �
	 6���
�	 $� 
��
� �
�
9�		
� "
�� �
��$�
�� 9���� L������ 9�
 �
� �����
��
� ��C
�
�������
������
�
��� �������
������9
��
�1 9� 	��� ��� �
� ���� �
��
 )�
��
��	����
 �
D��
�
�1 ����� 
	 ���� �>� ��
 �����
	��'�$��� .��� ��
 �����������$ $� �
���
$�
�
�� ?
� 	�'�
�
� 0�9
�����
� 9
��
� ��
 ���
� 	� ��� �
� ����
��	9>��
�
����	�����
��1 ��		 �
��
 ���
������
 �� ������
����
�  '�
 �
	 ����
	 ��
�
��
������� 9��� 
��
����1 ��		 ��
 �����
�������� ��� �
� ���� �
�
�  ��� �
���
:� 0�������� 7�/ 	��� �>� �
� $9
����
�	�����
� )��� ��
 

�9
��
�
� 6���
�

����
	�
���� ��
 
��	��
��
��
 %����������	����
� ����
� �>� ��
	
 6���
� ��

��
� �
���� ���
9���
��
� )���I

fKT
N (x) =

d−1∑
q=0

(−1)q
(
d− 1
q

) ∑
|l|1=N+(d−1)−q

fl(x), J7���#K

9��
� ����
��
 .
=�
�$ 
�� 6���
�� 

�9
��
� 9���I

d∑
i=1

li = N + (d− 1) − q, , q = 0, ..., d − 1, li > 0.
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��� &���������
�� �>� ��
  ��$��� �
� %����������	�
����� �	� ��
 �
����


������
 :���
�
���
����1 �� ���� 9�
 
�� ��� '=����	����
� 6���
�� �
���
��
�
9���� @
��
���� 	��� ��
 
��$
��
� "
�������
�
 �� ���
� %����
,��'� 	���� �
���
$�
��� 0�	���� 
�� *����
� �
� 5������ O(2Nd)1 	��� O(dNd−1) "
�������
�

�
� 6�;8
 O(2N ) $� �
����
��� 0������� �
� A����'�����
�� �
� "
���;	���
�
���� 
�� 	����
	 �
�����
� �� ���>�����
� @
�	
 ������
��	�
�� 9
��
�� ��	 �
�8�
��
 -;	���
� ��� �
� "
������
�� �;��
� ��� 

�	���
�
�
� *��$
		��
� �����
�'���� 
��
�����
� �
�;	� 9
��
�� .����� ���
 *��$
		
 �

��
� 	���1 9
��
�
��
 "
���;	���
� �� 
��
� *��$
		�� �
	
��
�1 �
� ���� �
� %����������	����
�
� ��
 6
	����;	��� ���	�
���� ��
	 �
�
��
� 
��
 ���8
 ?
	���
������� �
	
�
�����
�	�



( )���	����� �	��������

:� ��
	
� %����
� 9
��
� 
�	�
 ���
���		
 ��� �
� +�,���� ����	�
����� �
��
����
� ��� 
,���
���
��
� )�����
� ��� 6��8�*���� ��� �>��
� 6���
�� 
���
�
	�
��� J�� )���
��
� ���$ �0@������
��� �
�����K� ��$� 9
��
� �� 
�	�
�
0�	������ 
����
 �
����	 $�� :���
�
���
���� ���
�
�
�1 �

�� ��	 �
�����
�
$��'��	� �>� �
� ���
�����
� )��� ���
�	���� 9���� )>� 
��
� 	�����
��
� ���
��
	��$ 9��� ��
 %��

��
�$ �
� -;	��� �
� $��
��
��
� 0�$��� �� ���
������
�
�
�
� ��
 5������������
 �
$
���� @
��
���� 9��� ��	 �
�����
� �
	 .��'�$
�	 ��
0��'�����
�� 
�� -


�1 �
������	�
����	�����
�
� ��� 6�;8
 �
� 
����
�
��
�
���
��
��
 ����!	�
���
��� �
���
��� �
	 +0*��
�����
�	 ��� ���
�
� .��'�$

�����
� 9
��
� ��


�� %����
� ����� �
D��
��
� 

�����
�
��
��
� &�	�������
1 ��	 �� %����
� ���

���
	�
���
 
������	�
��
 �
�����
�1 	�9�
 
�� .��������%
��	��'�$
� ��� 6��8�
�
�� 

�9
��
��
:� �����
� "
�������
� ����
� �>��
 6���
� �>� $9
����
�	�����
 �����
�

	��'�$���
� $�� ���	��$� ���
� 

���
���
� 9�� ��
 ��� �
� �>��
� 6���
�
�
�
���
�
 -;	��� ��� �
� ��������
���	��$ ��� ���
�	���
� ��	 %��

��
�$�


�����
� �>� 

�	���
�
� ���8
 ���
�	'�$
� 0�	����
8
�� 9
��
� �>� 	�����
��

���
�	'�$
 ��
 3
9
����
� �����
	��'�$
� �
	 +0*��
�����
�	 ��� �
�
� 
��
	
����	��
� &�	�������	 

������
�� ��� 0�	����		 9��� ��	 ����
�
���
��
 �
��
����
� ��� 
����
 �
��
 ���
�	'�$
 ���
9
��
��
.'������
 �� ��
	
� %����
� ���
����
�
 6��D�
� 9���
� ���
� ��� +0"-0?


�$
��� G"�
47H�

5�� 6���
�
���

�����
�����

 ����
� ��
 �����	'�$����
 ��	��
��	�
���� �� 
���
���
� %����
� 
���
	�
���
9���
1 9
��
� ��
� 0	�
��
 �
� A�	
�$��� ���
	�����
�� 6����	'�$���� 9���
��� �
� �� %����
� 7�� 
���
	�
���
� �������
1 �
� �
� ��	 ��������
��
 ��
������
������ =�������	�� �����,���
�� 9���1 �
���
��
��
���'��	� �	� 
�� �

���
�
� �
������	�
����	��
����� $� 9'��
�1 ��� �
� ��	

*����
� 
�	� 
���
���� �;	��� 9��� ��� �
� ��
 6
	���� �
� -;	��� ��� 
���
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